
Q1) Attempt Any Three of the following questions in about 100 words each.
[15]

a) Discuss the company's family support system that helped Indra Nooyi
to maintain a balance between her personal and professional life.

b) Describe Sudha Murthy's First experience of gendre discrimination.

c) How did moving to pune change Sudha Murthy's life?

d) Draw a character sketch of suzanne.

e) How did Eleanor take revenge on Suzanne?

Q2) Attempt Any Three of the following questions in about 100 words each.[15]

a) What sort of relationship did Bob and Jimmy share in the short story
'After Twenty Years'?

b) Describe the twist at the end of the story 'After Twenty Years'.

c) Explain the central theme of the poem 'O Captain! My Captain!

d) What does the speaker want his daughter to learn in the poem 'A Prayer
for My Daughter'.

e) How does the poem celebrate the achievements of President Lincoln?
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Q3) Attempt Any Two of the following : [20]

a) Imagine that you are Ketan Pawar. Write a letter to your uncle, telling him
about a study four you went on with teachers and classmates.

b) Write a newspaper report on a cultural programme organized by your
college.

c) Explain Blogging as an effective social networking tool.

d) Write a resume, in response to the newspaper advertisement for the post
of the bank manager.

Q4) Attempt Any Four of the following : [20]

a) Explain the components of an email letter.

b) You are Mr. Prakash Bhosale. The laptop you bought one week ago
From Prashant Electronics in pune, is giving you a problem. Write an
email to be sent to the manager of the company, making a complaint
about the defect and asking for it to be replaced.

c) You are Kishor Thorat of Mumbai. In response to a newspaper
advertisement you wrote a letter to the personnel manager of Orissa
Engineering Pvt. Ltd. applying for the post of an assistant engineer in the
company, but forgot to enclose your resume. Write an email to the
personnel manager of the company, apologising for the oversight on
your part and sending your resume.

d) Describe the difference between verbal and non verbal communication.

e) Write a short note on proxemics.

f) Explain the importance of paralanguage in non-verbal communication.


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Q1) A) Fill in the Blanks (any 5):  [5]

a) Wages ledger account is created under __________ Group.

i) Capital ii) Indirect expenses

iii) Direct Expenses iv) Current Assets

b) Cash deposited into ABC bank this entry shall be entered in tally software
by using ––––––––––– voucher key.

i) Ctrl+ F5 ii) Ctrl+ F9

iii) Ctrl+ F7 iv) Ctrl+ F

c) –––––––––––  is a right to publish, copy and distribute an artistic work.

i) Copyright ii) Patent

iii) Goodwill iv) Trademark

d) The accounting for Charitable trusts is primarily based on the –––––––
theory.

i) Entity theory ii) Fund theory

iii) Legal theory iv) Rent theory

SEAT No. :
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e) The capacity of a business to earn profits in future is termed as ______.

i) Copyright ii) Patent

iii) Brand iv) Goodwill

f) ______ Organizations are established for running social, cultural and
educational activities.

i) Not for profit ii) Sole trading concern

iii) Joint Hindu Family iv) Trading

g) ______ is an owner of the property.

i) Lessor ii) Lessee

iii) Seller iv) Bailee

B) Match the pair (any 5) [5]

Group A Group B

I Lessee A Nominal Account

II Subscriptions B Short workings Recovered

III Changing Period in Tally software C CTRL+F6

IV Income and Expenditure Account D Acquires the right to use
the property

V One of the methods of valuation of E Receipt and payment
Goodwill account credit side

VI Recoupment of Short working F F2

VII Recording of Receipt transactions G Receipt and Payment
in tally account Debit side

H Super Profit Method
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Q2) Write short notes (any 2) :  [10]
a) Methods of valuation of Goodwill.
b) Types of Leases.
c) Importance of Tally in Business.
d) Features of Receipt and Payment Account.

Q3) Following is the Receipt and Payment Account of Rajput Sports Club,
Rajasthan for the year ended 31st December, 2022 [8]

Receipt and Payment Account
For the year ended 31st Dec, 2022

Dr. Cr.
Receipts Rs. Payments Rs.
To Cash in Hand 17,200 By Salaries 18,000
To Subscriptions 45,000 By Fax Charges 1,200
To Entertainment Receipts 8,200 By Postage 1,800
To Interest on Gov. 1,500 By  Expenses on Annual 9,000
     Securities       Function
To Entrance Fees 2,000 By Magazines and 4,200

      Periodicals
To Sale Proceed of 750 By Repair to Building 6,600
     Waste Paper
To Membership Fees 3,000 By Stationery Purchased 8,000
To Miscellaneous Receipt 750 By Rent and Rates 7,000
To Legacies 2,000 By 10% Government 20,000

(to be capitalized)      Securities
     (Purchased on1st

     Jan, 2022)
By Corporation Taxes 1,200
By Cash in hand 3,400

Total 80,400 Total 80,400
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You are required to prepare Income and Expenditure Account for the year
ended 31st December, 2022 by taking into consideration the following
information :

1. 20% of entrance fees are to be capitalized whereas 30% of membership
fees are to be treated as Revenue Income.

2. Stock of Stationery on 31st December, 2022 was Rs. 1,700 whereas on
1st January, 2022 it was of Rs. 1,000

3. 5% Depreciation is to be provided on the cost of building amounting to
Rs. 2, 00,000.

Q4) Rama and Company, Bikaner decides to purchase the entire business of Gama
and Company, Raibareli as on 31st December, 2022. The Business profit and
loss of Gama and Company for the last five years were as follows: [7]

Year 2018 2019 2020 2021 2022

Profits 43,500 53,000 95,500 1,09,500 1,48,500

The capital employed of the business is Rs. 6,50,000 on which the reasonable
rate of return is 10%. The goodwill is three years of purchase.

Calculate the value of Goodwill as per :

1. Average Profit Method.

2.  Super Profit Method.

Q5) Aqua Ltd. leased a property from Bita Ltd. on 01.01.2019 on the following
terms and conditions :

1. Royalty to be paid at Rs.2 per ton

2. Minimum rent was fixed at Rs. 18,000 p.a.



3. Each year Excess of minimum rent over actual royalties was to be
recouped during the next three years.

4. The output and the royalties upto 2022 were as follows :

Year Output (in tons) Royalty (in Rs.)

2019 1,500 3,000

2020 7,000 14,000

2021 9,000 18,000

2022 12,000 24,000

a) Prepare the working table for all years. [7]

b) Pass necessary journal entries for last 2 years (2021 and 2022) in
the books of Aqua Ltd. [8]


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Q1) a) Fill in the blanks (Any 5) : [5]

i) Per unit cost of good is called ________.

(Total fixed cost, Variable cost, Average cost, Prime cost)

ii) In the ________ all factors of production are variable.

(Past, Short run, Long run, Future)

iii) Perfect competition has ________ number of buyers and sellers.

(few, large, limited, infinite)

iv) The number of seller in a monopoly market is ________.

(large, few, two, single)

v) The Economies due to changes in production technique are called
_________.

(Labour Economies, Managerial Economies, Technical
Economies, Marketing Economies)

vi) Liquidity preference theory was propounded by _______.

(Keynes, Pigou, Marshall, Ricardo)
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b) Match the following pairs : [5]

Group 'A' Group 'B'

i) Average Revenue a) Mrs. John Robinson

ii) Theory of monopolistic b) Oligopoly

competition

iii) Imperfect competition c) Ricardo

iv) Price war d) Price of goods

v) Classical Theory of Rent e) Chembarlin

Q2)  Explain the various concepts of cost. [15]

Q3) What is meant by perfect competition? Explain the Long-Run Equilibrium
of the firm and the Industry under perfect competition. [15]

Q4) What is meant by Duopoly? Explain the features of Duopoly market. [15]

Q5) Explain the modern theory of Rent. [15]

Q6) Write short notes on (Any Three) : [15]

a) Concepts of Revenue sunk cost.

b) Features of perfect competition.

c) Price Discrimination.

d) Quasi Rent.

e) Real wages.


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUË`mhr 5) … [5]

i) dñVwÀ`m à{VZJ CËnmXZ IMm©g ............. åhUVmV.

(EHw$U pñWa IM©, ~XbVm IM©, gamgar IM©, àYmZ IM©)

ii) .............. _Ü`o CËnmXZmMo gd© KQ>H$ ~Xbw eH$VmV.

( ŷVH$mi, AënH$mi, XrK©H$mi, ^{dî`H$mi)

iii) nwU© ñnY}_Ü ò IaoXrXma Am{U {dH«o$Vo .............. AmhoV.

(H$mhr, Ag§»`, _`m©{XV, A§ZVVm)

iv) _ŠVoXmar ~mOmamV {dH«o$Ë`m§Mr g§»`m ................... AgVo.

(Ag§»`, H$mhr, XmoZ, EH$M)

v) CËnmXZ V§ÌmVrb ~Xbm_wio {_iUmè`m ~MVrbm ................ åhUVmV.

(l_{df`H$ ~MVr, ì`dñWmnH$s` ~MVr, Vm§{ÌH$ ~MVr, ~mOmanoR> {df`H$ ~MVr)

vi) VabVm àmYmÝ` {gÕm§V .................... Zo _m§S>bm.

(Ho$Ýg, {nJy, _me©b, [aH$mS>m})

3 P.T.O.
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~) `mo½` OmoS>çm bmdm … [5]

JQ "A'> JQ> "~'

i) gamgar àmár A) {_gog Om°Z am°~rÝgZ

ii) _ŠVoXmar ẁŠV ñnYm© {gÕm§V ~) Aën{dH«o$Vm{YH$ma

iii) AnwU© ñnYm© H$) [aH$mS>m}

iv) qH$_V ẁÕ S>) dñVwMr qH$_V

v) gZmVZdmXr I§S>mMm {gÕm§V B©) M|~abrZ

àíZ àíZ àíZ àíZ àíZ 2) IMm©À`m {d{dY g§H$ënZm ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) nwU© ñnYm© åhUOo H$m`? nwU© ñnYm© ~mOmamVrb CÚmoJg§ñWm d CÚmoJmMm XrK©H$mbrZ g_Vmob
ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) {Û{dH«o$Vm{YH$ma åhUOo H$m`? {Û{dH«o$Vm{YH$ma ~mOmamMr d¡{eï>ço ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) I§S>mMm AmYw{ZH$ {gÕm§V ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm (H$moUË`mhr VrZ) … [15]

A) àmárÀ`m g§H$ënZmVrb IM©

~) nwU© ñnY}Mr d¡{eï>ço

H$) _wë` ôX

S>) Am^mg I§S>

B) dmñVd doVZ


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Q1) A) Fill in the blanks (any 5): [5]

a) For two matrices to be added, the matrices must be of ________.

(same size, different size, identical type)

b) The rank of n × n matrix is __________ if all its elements are 5.

(Five, Two, One)

c) Use of graphical  method of LPP is to solve ________.

(Final Solution, Linear Equations, Initial Solution)

d) Coefficient of correlation will be always ________.

(Between - 1 and 1, more than 0, more than 1)

e) Regression is measure of average relationship between ________
variable.

(two or more, one or zero, one)

f) ________ is known as the ‘ideal formula’ for constructing index
numbers.

(Fisher’s Index, Paasche’s Index, Laspeyre’s Index)

P.T.O.
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B) State the following statement are ‘True’ or ‘False’: (any 5): [5]

a) The consumer Price Index can be used to correct the effect of
inflation in comparing incomes from year to year.

b) In a simple linear regression model, a negative slope term always
indicates negative correlation.

c) Determinant and Matrix are of the same meaning.

d) The inverse of a matrix will exist only if determinant is zero.

e) Index numbers helps in comparison of changes in price.

f) Regression is the technique of prediction on the basis of correlation.

Q2) Solve any three from the following: [15]

a) Let 
2 4

A
5 7

 
=  
 

 and 
3 1

B
6 8

 
=  
 

 Find A + B and A – B.

b) A dealer deals in two items radios and TV. He has 5,00,000/- to invest
and stores 60 pieces. One TV cost is 25,000/- and one radio cost is
5,000/-. If one radio gives a profit of 500/- and one TV gives profit of
2,500/-. Formulate the situation as a LPP to maximize the profit.

c) Compute Paasche’s and Laspeyre’s Price index number for the following
data:

Commodity Price Quantity

2014 2020 2014 2020

P 15 22 60 35

Q 17 28 56 44

R 12 22 8 14

S 18 8 19 32

T 22 14 11 29

d) Explain the types of Matrix.

e) What are the types of correlation?
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Q3) Solve any three from the following: [15]

a) Solve the following Determinant.

2 3 5

D 3 2 3

4 1 6

 
 =  
  

b) Solve graphically given LPP

Minimize 50 70

Subject to 2 8

2 10

0, 0

Z x y

x y

x y

x y

= +
+ ≥

+ ≥
≥ ≥

c) Compute the Fisher’s ideal price index number for 2021 on the basis of
2014 with the following information.

Commodity Price Quantity

2014 2021 2014 2021

A 5 10 4 12

B 8 6 7 7

C 6 4 5 3

d) State the advantages of index number.

e) What are the advantages of regression analysis?

Q4) Solve any three from the following: [15]

a) Solve the following set of equations by using matrix inverse method:

2 3 5

11 5 6

x y

x y

+ =
− =

b) Draw the graph of linear equation.

5 3 15x y+ =  and 2 5 10x y+ =
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c) The marks obtained by 9 students in two subjects Marathi and Hindi are

given below. Compute the Rank Correlation Coefficient of Spearman.

Marks in  Marathi 35 23 47 17 10 43 9 6 28

Marks in Hindi 30 33 45 23 8 49 12 4 31

d) Explain the concept of LPP.

e) What is Index Number? State the types of Index Number.

Q5) a) Calculate the coefficient of correlation for the following data: [10]

Price 50 55 48 54 60 56 58 59

Supply 90 110 75 100 120 110 115 120

b) If 
3 2

A
7 5

 
=  
 

 and 
4 5

B
3 4

 
=  
 

 Find AB and BA. [5]

OR

b) Following are the data related to marks obtained by 100 students of a

class in two subjects - Economics and Co-operation. Find out probable

marks in Economics of a student who secured 70 marks in Co-operation.[5]

Item Economics Co-operation

Mean 55 80

Standard Deviation 9 12

Correlation Coefficient 0.8


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Q1) A) Fill in the blanks (Any five): [5]

i) _______ provides users with more options and quicker delivery of
products.

a) E-commerce b) Markets

c) Code d) File

ii) Customers are going digital with their payments, increasing the need
for ______.

a) Growth b) Speed

c) Transparency d) Security

iii) E-Currency also known as ________

a) Fast cash b) Digital cash

c) Wallet d) Slow cash

iv) ______ is an electronic, encrypted stamp of authentication on digital
data.

a) Easy money b) W-commerce

c) Digital signature d) Codes

v) Debet cards eliminate the need to carry ________

a) Bank b) Cash

c) Metal d) Plastic

vi) E-Commerce applications are changing _______

a) Slowly b) Rapidly

c) Virtual d) Files

P.T.O.
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B) Match the following : [5]

i) E-CRM a) Financial transactions viarantent

ii) RTGS money transfer b) Local Area Network

iii) Online banking c) Electronic Customer Relationship

iv) LAN d) Physical arrangement of computers

v) Topology e) Happens in real time

Q2) What is E-commerce? Explain various activities of E-Commerce. [15]

Q3) What is E-marketing? Explain the merits and demerits of E-Marketing. [15]

Q4) What is customer Relationship Management? Explain in detail the need of
electronic customer Relationship Management. [15]

Q5) Define Electronic Data interchange? Explain in detail types of electronic fund
transfer. [15]

Q5) Write Short Notes (Any three out of five): [15]

a) Functions of Supply Chain Management.

b) Net Banking.

c) Digital Signature.

d) M-commerce and its benefits.

e) Types of M-commerce.


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (ghmn¡H$s H$moUË¶mhr nmM) [5]

i) .................. ho dmnaH$Ë¶mªZm A{YH$ n¶m©¶ Am{U CËnmXZm§Mr ObX {dVaU àXmZ
H$aVo.

A) B©-H$m°‘g© ~) ~mOmanoR>m

H$) gm§Ho$Vm§H$ S>) ’$mB©b

ii) J«mhH$ ho {S>OrQ>b Pmë¶m‘wio d Ë¶m§Mo no‘§oQ> {S>OrQ>b Pmë¶m‘wio .............. Mr JaO
dmT>V Amho.

A) dmT>/d¥Õr ~) JVr

H$) nmaXe©H$Vm S>) gwa{jVVm

iii) B©-MbZ ho AOyZ ...................... åhUyZ hr AmoiIbo OmVo.

A) ’$mñQ> H°$e ~) {S>OrQ>b H°$e

H$) nm°Ho$Q> S>) ñbmo-H°$e

iv) ............... {S>OrQ>b ‘m{hVr darb à‘m{UH$aUmMm Bbo³Q´>m°{ZH$ BZ{H«$ßQ>oS> ñQ>°ån Amho.

A) B©Or ‘Zr ~) S>ãë¶y-H$m°‘g©

H$) {S>OrQ>b {g¾oMa S>) H$moS>g²

v) S>o{~Q> H$mS>© ‘wio ................... ~miJÊ¶mMr JaO ahmV Zmhr.

A) ~±H$ ~) n¡go

H$) YmVy S>) ßb°pñQ>H$

vi) B©-H$m°‘g© A°pßbHo$eZg² ho ....................... ~XbV AmhoV.

A) hiyhiy ~) J{V‘mZnUo

H$) à{H«$¶oZwgma S>) ’$mB©bZwgma
P.T.O.
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~) OmoS>çm Owidm : [5]

i) B©-grAmaE‘ A) BªQ>aZoQ>À¶m gmømZo Am{W©H$ ì¶dhma

ii) Ama.Q>r.Or.Eg. À¶m gmømZo n¡go hñVm§Va ~) bmoH$b E[a¶m ZoQ>dH©$

iii) Am°ZbmB©Z ~±qH$J H$) B©bo³Q´>m°{ZH$ H$ñQ>‘a [aboeZ{en ‘°ZoO‘|Q>

iv) b°Z (Eb.E.EZ.) S>) g§JUH$mMr ^m¡{VH$ ‘m§S>Ur

v) Q>monmobm°Or B) àË¶j doir KSy>Z ¶oVmo

à.à.à.à.à.2) B©-H$m°‘g© åhUOo H$m¶? B©-H$m°‘g©Mo {d{dY CnH«$‘ ñnï> H$am. [15]

à.à.à.à.à.3) B©-‘mH}$qQ>J/{dnUZ åhUOo H$m¶? B©-‘mH}$qQ>JMo JwU/’$m¶Xo d VmoQ>o ñnï> H$am. [15]

à.à.à.à.à.4) J«mhH$ g§~§Y ì¶dñWmnZ åhUOo H$m¶? B©bo³Q´>m°{ZH$ J«mhH$ g§~§Y ì¶dñWmnZmMr JaO g{dñVa ñnï>
H$am. [15]

à.à.à.à.à.5) "B©bo³Q´>m°{ZH$ ‘m{hVr hñVm§Va' ¶m g§koMr ì¶m»¶m Úm. B©bo³Q´>m°{ZH$ {ZYr hñVm§VaUmMo àH$ma g{dñVa
ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (nmMn¡H$s H$moUVohr VrZ) [15]

A) nyadR>m gmIir ì¶dñWmnZmMr H$m¶}

~) ZoQ> ~±qH$J

H$) {S>OrQ>b {g¾oMa

S>) E‘-H$m°‘g© Am{U Ë¶mMo ’$m¶Xo

B) E‘-H$m°‘g©Mo àH$ma





Q1) a) Fill in the blanks (Any five) : [5]

i) To get the office work done by the personnel of the office is
_____ of quality of office manager.

a) Education and training b) Experience

c) Personal qualities d) Professional interest

ii) To-Do list prepare in _______ technique of time management.

a) Set your priorities b) Stay focused

c) Set realistic goals d) Set achievable target

iii) ______ is the process of deciding what one plan to achieve the
result one desires.

a) Goal setting b) Policy setting

c) Plan setting d) Time setting

iv) The word ‘communication’ is derived from ________.

a) Latin word b) French word

c) German word d) Greek word

v) Dressing Styles is the type of ________ barriers in process of
Business communication.

a) Physical Barrier b) Psychological Barrier

c) Emotional Barrier d) Cultural Barrier
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vi) Attraction and respect is the type of _______ barriers in process
of Business communication.

a) Physical Barrier b) Psychological Barrier

c) Emotional Barrier d) International Barrier

b) Match the following : [5]

i) Frank and Lillian Gilbreth a) Language

ii) Linguistic Barrier b) Motion study

iii) Internet communities c) State of Health

iv) Psychological Barrier d) Facebook

v) Physical Barrier e) Inattentiveness

Q2)  Explain in detail the Duties and Responsibilities of the Office Manager. [15]

Q3) What do you mean by Office Communication? State the Barriers in Effective
Communication. [15]

Q4) Define the term Work Measurement. State the Objects and Importance of
Work Measurement. [15]

Q5) Explain the various factors in selecting office machines. [15]

Q6) Write short notes on (Any Three) : [15]

a) Goal Setting

b) Recent Trends in Communication

c) Motion Study

d) Classification of Report.

e) Office Automation


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) … [5]

i) H$m`m©b`mVrb H$_©Mmè`m§H$Sy>Z H$m`m©b`rZ H$m_ H$adyZ KoUo hr H$m`m©b`rZ
ì`dñWmnH$mMr JwUdÎmm ................ Amho.

A) {ejU Am{U à{ejU ~) AZŵ d

H$) d¡̀ {ŠVH$ JwU S>) ì`mdgm{`H$ ñdmañ`

ii) doi ì`dñWmnZmÀ`m ................ V§ÌmV H$m_mMr `mXr V`ma H$aVmV.

A) Vw_Mo àmYmÝ`H«$_ R>adm ~) bjH|${ÐV R>odUo

H$) dmñVddmXr Ü ò̀  R>a{dUo S>) gmÜ` H$aÊ`m`mo½` bú` R>a{dUo

iii) .............. hr EImÚmbm BpÀN>V n[aUm_ gmÜ` H$aÊ`mgmR>r `moOZm R>adÊ`mMr
à{H«$`m Amho.

A) Ü ò̀  {ZpíMVr ~) YmoaU {ZpíMVr

H$) `moOZm {ZpíMVr S>) doi {ZpíMVr

iv) 'Communication' hm eãX .............. eãXmnmgyZ Ambm Amho.

A) b°{Q>Z eãX ~) \«|$M eãX

H$) O_©Z eãX S>) J«rH$ eãX

3 P.T.O.
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v) dó n[aYmZ e¡br hm ì`dgm` g§àofUmÀ`m à{H«$ òVrb .............. AS>Wù`m§Mm
àH$ma Amho.

A) emar[aH$ AS>Wim ~) _mZ{gH$ AS>Wim

H$) ^md{ZH$ AS>Wim S>) gm§ñH¥${VH$

vi) AmH$f©U Am{U AmXa hm ì`dgm` g§àofUmÀ`m à{H«$ òVrb .............. AS>Wù`m§Mm
àH$ma Amho.

A) emar[aH$ AS>Wim ~) _mZ{gH$ AS>Wim

H$) ^md{ZH$ AS>Wim S>) Am§Vaamï´>r` AS>Wim

~) OmoS>çm Owidm … [5]

i) \«°$H$ Am{U {b{b`Z {Jë~«oW A) ^mfm

ii) ^m{fH$ AS>Wim ~) JVr Aä`mg

iii) B§Q>aZoQ> g_wXm` H$) Amamo½`mMr pñWVr

iv) _mZ{gH$ AS>Wim S>) \o$g~wH$

v) ^m¡{VH$ AS>Wim B©) {ZîH$miOrnUm

àíZ àíZ àíZ àíZ àíZ 2) H$m`m©b`rZ ì`dñWmnH$mMr H$m }̀ d O~m~Xmè`m g{dñVa ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) H$m`m©b`rZ g§XoedhZ åhUOo H$m` Vo gm§JyZ à^mdr g§XoedhZmVrb AS>Wio ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) H$m ©̀ _mnZ `m g§koMr ì`m»`m gm§JyZ Ë`mMr C{Xï>ço d _hËd ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) H$m`m©b`rZ §̀Ìgm_wJ«r {ZdS>rMo {d{dY KQ>H$ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr VrZ) … [15]

A) Ü ò̀  {ZpíMVr

~) g§XoedhZmVrb AmYw{ZH$ àdmh

H$) JVr Aä`mg

S>) AhdmbmMo dJuH$aU

B) H$m`m©b` ñd §̀MbrH$aU





Q1) a) Fill in the blanks (Any Five) : [5]

i) The capacity of Bank to earn profit is called __________.

a) Profitability b) Liquidity

c) Security d) Sutability

ii) CIBIL stands for ___________.

a) Credit Information Bureau International Ltd.

b) Credit International Bureau India Ltd.

c) Credit Information Bureau India Ltd.

d) Credit Information Board International Ltd.

iii) A cheque dated subsequent to the date of its issue is __________.

a) Post dated cheque b) Blank cheque

c) Crossed cheque d) Order cheque

iv) A Negotiable Instrument drawn within a country is known as
_________.

a) Inland b) Foreign

c) Time d) Clean
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v) Blank Endorsement is also called as __________.

a) Full Endorsement b) Qualified Endorsement

c) General Endorsement d) Special Endorsement

vi) The ATM installed at bank premises is called as ___________.

a) Off-Site b) Branch

c) On-Site d) Internal

b) Match the following : [5]
i) ICRA a) IFCI

ii) Liquidity b) Cash Withdrawal

iii) Negotiable Instruments c) Person who Endorses the
Instrument

iv) Endorser d) Cheque

v) ATM e) Decrease in profitability

Q2) Explain the Balance Sheet of Bank. [15]

Q3) What is Negotiable Instruments? Explain the features of Negotiable
Instruments. [15]

Q4) What is Endorsement? Explain the types of Endorsement. [15]

Q5) Explain the role and uses of Technology in Banking. [15]

Q6) Write Short Notes (Any Three) : [15]
a) CIBIL

b) Types of crossing

c) Effects of Endorsement

d) Mobile Banking

e) Parties to a cheque


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUVohr nmM) … [5]

i) ~±Ho$À`m Z\$m {_i{dÊ`mÀ`m j_Vog ................... åhUVmV.

A) Z\$m ~) VabVm

H$) gwajm S>) AZwê$nVm

ii) gr. Am`. ~r. Am`. Eb. Mo nwU© ê$n ..................

A) H«o$S>rQ> BÝ\$_}eZ ã ỳamo B§Q>aZ°eZb {b{_Q>oS>

~) H«o$S>rQ> B§Q>aZ°eZb ã ỳamo B§{S>`m {b{_Q>oS>

H$) H«o$S>rQ> BÝ\$_}eZ ã ỳamo B§{S>`m {b{_Q>oS>

S>) H«o$S>rQ> BÝ\$_}eZ ~moS>© B§Q>aZ°eZb {b{_Q>oS>

iii) YZmXoe H$mT>Vm§Zm Ë`mda nwT>rb Vm[aI Q>mH$br Ombo Ë`mg ................ åhUVmV.

A) CÎma {XZm§{H$V YZmXoe ~) H$moam YZmXoe

H$) aoIm§{H$V YZmXoe S>) AmXoe YZmXoe

iv) Xoem§VJ©V H$mT>boë`m MbZj_ XñVEodOmg ............... XñVEodO åhUVmV.

A) Am§VaXoer` ~) {dXoer

H$) g_`{Y{ð>V S>) ñdÀN>

3 P.T.O.
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v) H$moè`m n¥ð>m§H$ZmbmM ................ Ago Xo{Ib åhUVmV.

A) nyU© n¥ð>m§H$Z ~) nm` n¥ð>m§H$Z

H$) gm_mÝ` n¥ð>m§H$Z S>) {deof n¥ð>m§H$Z

vi) ~±H$ AmdmamV ñWm{nV E. Q>r. E_. bm ................ E. Q>r. E_. åhUVmV.

A) Am°\$-gmBQ> ~) emIm

H$) Am°Z-gmBQ> S>) A§VJ©V

~) OmoS>çm bmdm … [5]

i) ICRA A) IFCI

ii) amoIVm ~) n¡go H$mT>Uo

iii) MbZj_ XñVEo~O H$) gmYZm§Mo n¥ð>m§H$Z H$aUmam

iv) n¥ð>m§H$Z S>) YZmXoe

v) ATM B©) Z\$mj_VoV KQ>

àíZ àíZ àíZ àíZ àíZ 2) ~°Ho$À`m Vmio~§X nÌH$mVrb ~m~r g{dñVa ñnîQ> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) MbZj_ XñVEo~O åhUOo H$m`? MbZj_ XñVEo~OmMr d¡{eï> ò ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) n¥ð>m§H$Z åhUOo H$m`? n¥ð>m§H$ZmMo àH$ma ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) ~±H$ ì`dgm`mV V§ÌkmZmMr ŷ{_H$m d Cn`moJ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUVohr VrZ) … [15]

A) CIBIL ({g{~b)

~) aoIm§H$ZmMo àH$ma

H$) n¥ð>m§H$ZmMo n[aUm_

S>) _mo~mB©b ~±{H$J

B) YZmXoemMo nj





Q1) Write the answers of following questions in 20 words (any eight) : [16]
a) Write the names of agro-based industries.

b) Name the city in which first cotton mill started in India.

c) In which district was the first co-operative sugar factory started in India?

d) What is balance of trade?

e) What is international trade?

f) Give any two reasons for the use of air transport for light and perishable
goods.

g) Name any two cultural factors that affect tourism.

h) When was India's first national tourism policy decided?

i) State any two elements of map.

j) Give any two disadvantages of choropleth map.

Q2) Answer the following question in 50 words (any three) : [18]

a) Textile industry in India

b) Types of communication.

c) Problems facing the tourism industry

d) Advantages and disadvantages of Pie diagram.
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Q3) Answer the following question in 100 words (any two) : [16]

a) Explain industrial pollution with suitable examples.

b) Explain the role of communication in trade.

c) Write a note on state government's policy for tourism development

Q4) Write the answers to the following questions in 300 words (any one) [20]

a) Explain geographical and cultural factors affecting on tourism.

b) Write in detail the industrial location theory.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË òH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) H¥$frda AmYmarV CÚmoJm§Mr Zmdo {bhm.

~) ^maVmV n{hbr gyV{JaUr H$moUË`m ehamV gwé Pmbr?

H$) ^maVmV ghH$mar VÎdmdarb n{hbm gmIa H$maImZm H$moUË`m {Oëh`mV gwé Pmbm?

S>) ì`mnma g§VwbZ åhUOo H$m`?

B) Am§Vamï´>r` ì`mnma åhUOo H$m`?

\$) hbH$m d Zmed§V _mbmÀ`m dmhVwH$sgmR>r hdmB© dmhVwH$sMm H$m Ho$bm OmVo `mMr XmoZ
H$maUo Xçm?

`) n ©̀Q>Zmda n[aUm_ H$aUmao H$moUVohr XmoZ gm§ñH¥${VH$ KQ>H$ gm§Jm.

a) ^maVmMo n{hbo amï´>r` n ©̀Q>Z YmoaU H$Yr R>a{dÊ`mV Ambo?

b) ZH$memMr H$moUVohr XmoZ _wb ŷV A§Jo gm§Jm?

d) N>m`m nX²YVr ZH$memMo H$moUVohr XmoZ VmoQ>o gm§Jm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr àË òH$s 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) ^maVmVrb H$mnS> CXçmoJ

~) g§Xoe dhZmMo àH$ma

H$) n ©̀Q>Z CXçmoJm g_moarb g_ñ`m

S>) {d^mOrV dVw©i nÕVrMo \$m`Xo VmoQ>o

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË òH$s 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) Am¡Úmo{JH$ àXÿfU CXmhaUmgh ñnï> H$am.

~) g§XoedhZmMr ì`mnmamVrb ŷ{_H$m ñnï> H$am.

H$) n ©̀Q>Z {dH$mgmgmR>r amÁ`emgZmMo YmoaU ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr àË òH$s 300 eãXmV CÎmao {bhm (H$moUVohr EH$) [20]

A) n ©̀Q>Zmda n[aUm_ H$aUmao ^m¡Jmo{bH$ d gm§ñH¥${VH$ KQ>H$ ñnï> H$am.

~) Am¡Xçmo{JH$ ñWmZ {ZpíMVrÀ`m {gX²Ym§VmMo g{dñVa dU©Z H$am.





Q1) Attempt any five of the following : [5 × 2 = 10]

a) Define counter intelligence.

b) Define intelligence.

c) Define Security.

d) What is economic mobilization?

e) Define War.

f) Define Economic Warfare.

Q2) Attempt any four short note of the following : [4 × 5 = 20]

a) Defence Organization.

b) Defence Management.

c) Defence.

d) Intelligence.

e) Security.
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Write the role of Intelligence.

b) State resources of war.

c) Explain the history of Indian Intelligence Services.

d) Explain the War time Economy.

e) Explain the Indian Internal Security.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain in detail Economic Influence on state & Center Relations.

b) Explain in detail Economic diversification in various states of India.

c) Explain in detail the Process & Principles of Intelligence.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) H$mC§Q>a B§Q>o{bOÝgMr ì`m»`m H$am.

~) ~wpÜX_ÎmoMr ì`m»`m H$am.

H$) gwajoMr ì`m»`m H$am.

S>) Am{W©H$ J{V_mZVm H$m` Amho.

B) ẁÜXmMr ì`m»`m H$am.

\$) Am{W©H$ ẁÜXmMr ì`m»`m H$am.

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) g§ajU g§ñWm

~) g§ajU ì`dñWmnZ

H$) g§ajU

S>) ~wpÜX_Îmm

B) gwajm

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) ~wpÜX_ÎmoMr ŷ_rH$m {bhm.

~) ẁÜXmMr g§gmYZo gm§Jm.

H$) ^maVr` JwßVMa godm§Mm B{Vhmg ñnï> H$am.

S>) ẁÜXH$mimVrb AW©ì`dñWm ñnï> H$am.

B) ^maVr` A§VJ©V gwajm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) amÁ` Am{U H|$Ð g§~§Ymdarb Am{W©H$ à^md Vnerbdma ñnï> H$am.

~) ^maVmVrb {d{dY amÁ`m§_Yrb Am{W©H$ {d{dYrH$aUmMo Vnerbdma dU©Z H$am.

H$) ~wpÜX_ÎmoMr à{H$`m Am{U _wbVËdo Vnerbdma gm§Jm.


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Q1) A) Fill in the blanks : (any 5) [5]
i) ____________ structure is followed by Co-operations in India.

a) Federal structure
b) Unitary structure
c) Centralized structure.

ii) In __________ each works for all and all work for each.
a) Socialism
b) Capitalism
c) Co-operation

iii) Globalization refers to _________.
a) A more integrated and interdependent by world.
b) Less foreign trade and investment.
c) Global warming.

iv) Process of assigning greater role to private parties in _________.
a) Privatization
b) Libralization
c) BPO

v) The Rules and Regulations of a Co-operative society is formed in
its _________.
a) Co-operative Act
b) Co-operative rules
c) Bylaws

SEAT No. :
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vi) The members of a Co-operative society have __________ liability.
a) Limited
b) Unlimited
c) Joint

B) Match the Pairs : [5]
i) Co-operatives a) 1912
ii) Indian Co-operative b) Membership is not forced

Society Act
iii) Libralization c) National Co-operative

Development Co-operation
iv) NCDC d) 1973
v) FERA e) 1991

f) 1975

Q2) What is mean by Co-operative Society? Explain the types of Co-operative
Society in detailed. [15]

Q3) Define the Co-operative management. Explain the Nature/Characteristics and
functions of Co-operative management. [15]

Q4) What is libralization? Explain the Impact of libralization on Co-operative
movement. [15]

Q5) What do you mean by Co-operative Education? Explain the objectives,
Importance and Benefits of Co-operative Education. [15]

Q6) Short notes : (Any 3) [15]
a) Federation of Co-operatives.
b) Qualities of Co-operative leader.
c) Opportunities of Co-operative movement.
d) Characteristics of Co-operative Education Programmes.
e) Agricultural Co-operative Society.


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F. Y. B.Com. (Semester - II)

CO-OPERATION - II
(125(E)) : Theory and Practice of Co-Operation - II

(2019 Pattern)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) àíZ H«§$. 1 Am{U 6 A{Zdm¶© h¡&

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) àíZ H«$‘m§H$ 2 Vo 5 n¡H$s H$moUVohr 3 gmoS>dm.

PA-1758

àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am. (H$m oUVohr nmM)[aH$må¶m OmJm ^am. (H$m oUVohr nmM)[aH$må¶m OmJm ^am. (H$m oUVohr nmM)[aH$må¶m OmJm ^am. (H$m oUVohr nmM)[aH$må¶m OmJm ^am. (H$m oUVohr nmM) [5]
i) ............... g§aMZm hr ^maVmVrb ghH$mar g§ñWmZ§Va Amho.

A) ’o$S>ab g§aMZm

~) EH$mË‘H$ aMZm

H$) H§o$ÐrH¥$V g§aMZm

ii) ................ ‘Ü¶o àË¶oH$ gdmªgmR>r H$m¶© H$aVo Am{U àË¶oH$mgmR>r gd© H$m¶©
H$aVo.

A) g‘mOdmX

~) ^m§S>dbemhr

H$) ghH$m¶©

iii) OmJ{VH$sH$aU ................ Mm g§X^© XoVo.

A) A{YH$ EH$mpË‘H$ Am{U nañnamdb§~r OJ

~) H$‘r naH$s¶ ì¶mnma Am{U Jw§VdUyH$

H$) ½bmo~b dm{‘ªJ (Global Warming)
iv) .................. ‘Ü¶o ImOJr njm§Zm ‘moR>r ̂ y{‘H$m {Z¶w³V H$aÊ¶mMr à{H«$¶m AgVo.

A) ImOJrH$aU

~) CXmarH$aU

H$) BPO (~rnrAmo)

P.T.O.
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v) ghH$mar g§ñWoMo {Z¶‘ Am{U {d{Z¶‘ ................. ‘Ü¶o V¶ma Ho$bo OmVmV.
A) ghH$mar H$m¶Xm
~) ghH$mar {Z¶‘
H$) Cn{dYr

vi) ghH$mar g§ñWoÀ¶m gXñ¶m§Mr ........... O~m~Xmar AgVo.
A) ‘¶m©{XV
~) A‘¶m©{XV
H$) g§¶w³V

~) OmoS>çm Owidm. [5]
i) ghH$mar A) 1912
ii) ^maVr¶ ghH$mar g§ñWm H$m¶Xm ~) g^mgXËdmMr g³Vr Zmhr
iii) CXmarH$aU H$) amï´>r¶ ghH$mar {dH$mg ‘hm‘§S>i
iv) NCDC S>) 1973
v) FERA B) 1991

’$) 1975

àíZ 2) ghH$mar g§ñWm åhUOo H$m¶? ghH$mar g§ñWm§Mo àH$ma Vnerbdma gm§Jm. [15]

àíZ 3) ghH$mar ì¶dñWmnZmMr ì¶m»¶m gm§Jm. ghH$mar ì¶dñWmnZmMo ñdê$n/d¡{eï>¶o Am{U H$m¶} ñnï>
H$am. [15]

àíZ 4) CXmarH$aU åhUOo H$m¶? CXmarH$aUmMm ghH$mar Midirda hmoUmam n[aUm‘ ñnï> H$am. [15]

àíZ 5) ghH$mar {ejU åhUOo H$m¶? ghH$mar {ejUmMr C{Ôï>¶o, ‘hËd AmUr ’$m¶Xo ñnï> H$am.[15]

àíZ 6) {Q>nm {bhm (H$moUË¶mhr VrZ) : [15]
A) ghH$mar g§K.
~) ghH$mar ZoË¶mMo JwU.
H$) ghH$mar MidirMr g§Yr.
S>) ghH$mar {ejU H$m¶©H«$‘mMr d¡{eï>¶o.
B) H¥$fr ghH$mar g§ñWm.


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F.Y. B.Com.

(125F) MANAGERIAL ECONOMICS -II

(2019 Pattern) (Semester - II)
Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) Q.NO.1 and Q.No. 8 are compulsory.

2) Attempt any 4 questions from Q.No. 2 to Q.No.7.

3) Figures to the right indicate full marks.

PA-1759

Q1) A) Fill in the blanks (any 5) : [5]
i) Partnership is based on mutual agreement between minimum _______

a) Two Person b) Three Person
c) Five Person d) One Person

ii) Registration is compulsory for _________
a) Multinational b) Foreign Company
c) Joint Stock Company d) All of the above

iii) Business organization owned by a single person is known as______
a) Sole Proprietorship b) Partnership
c) Organization d) Co-operation

iv) Public enterprise is a business organization controlled through_____
a) Private authority b) Public authority
c) Foreign authority d) None of the above

v) The core components in the pricing of the product is_______
a) Ruling Price b) Base Price
c) Future Price d) All the above

vi) ___________is a residual income.
a) Profit b) Cost
c) Output d) Input

SEAT No. :

P.T.O.
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B) State whether the following is True or False:(any five) [5]
a) Joint-stock company is called an artificial legal person.
b) The public enterprise is managed by one of the departments of the

government.
c) The transaction of government companies is controlled and regulated

by the Indian company act of 2013.
d) MNC are not primarily profit oriented.
e) The price is an agreement between seller and buyer.
f) Price influences consumers purchasing decision.

Q2) What is sole proprietorship? Explain its features. [12]

Q3) What do you mean by public enterprises? Explain the features of public
enterprise. [12]

Q4) Explain the concept of public-private partnership. [12]

Q5) Explain the various factors affecting pricing decision. [12]

Q6) Explain the difference between a public company and a private company.[12]

Q7) Describe various methods of capital budgeting. [12]

Q8) Short Note (any two). [12]
a) Meaning of business organization
b) Demerits of a sole proprietorship
c) Objectives of public enterprises
d) Private enterprises


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F.Y. B.Com.

(125F) MANAGERIAL ECONOMICS -II
(2019 Pattern) (Semester - II)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm :- 1) à.H«$.1 Am{U à.H«$.8 A{Zdm¶© AmhoV.

2) à.H«$.2 nmgyZ à.H«$.7 n¶ªV H$moUVohr 4 àíZ gmoS>dm.
3) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

PA-1759

àíZ 1) A) Imbrb {Xboë¶m ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]
i) ^mJrXmar hr H$‘rVH$‘r .............. ì¶³Vt‘Yrb nañna H$amamda Adb§~yZ AgVo.

A) XmoZ ì¶³Vr ~) VrZ ì¶³Vr

H$) nmM ì¶³Vr S>) EH$ ì¶³Vr

ii) ............ àH$maÀ¶m g§ñWogmR>r Zm|XUr H$aUo A{Zdm¶© Amho.

A) ~hþamï´>r¶ ~) naH$s¶ H§$nZr

H$) g§¶w³V ^m§S>db H§$nZr S>) darb gd©

iii) EH$ ì¶³Vr ì¶mdgm{¶H$ g§KQ>Zobm ............ åhUyZ AmoiIbo OmVo.

A) EH$b ‘mbH$s ~) ^mJrXmar

H$) g§KQ>Zm S>) ghH$ma

iv) gmd©O{ZH$ g§ñWm ............... ‘m’©$V {Z¶§{ÌV Ho$bo OmV AgVmV.

A) ImOJr àm{YH$aU ~) gmd©O{ZH$ àm{YH$aU

H$) naXoer àm{YH$aU S>) darb n¡H$s EH$hr Zmhr

v) CËnmXZmÀ¶m qH$‘Vr ‘Yrb ‘w»¶ KQ>H$ ............. Amho.

A) éqbJ qH$‘V ~) AmYma ŷV qH$‘V

H$) ^{dî¶mVrb qH$‘V S>) darb gd©

vi) CËnÞmÀ¶m Cd©[aV ^mJmbm ............. åhUVmV.

A) Z’$m ~) IM©
H$) CËnmXZ S>) AmXmZ

P.T.O.
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~) Imbrb {dYmZo gË¶ qH$dm AgË¶ gm§Jm. (H$moUVohr nmM) [5]

A) g§¶w³V ^m§S>dbr H§$nZrbm H¥${Ì‘ H$m¶Xoera ì¶³Vr Ago åhUVmV.

~) gmd©O{ZH$ CnH«$‘m§Mo ì¶dñWmnZ gaH$mar {d^mJ H$aVmo.

H$) gaH$mar H§$nÝ¶mMo ì¶dhma H§$nZr H$m¶Xm 2013 À¶m A§VJ©V d {Z¶§{ÌV d Mmbdbo
OmVmV.

S>) ~hþamï´>r¶ H§$nÝ¶m ô¶m àW‘ Xe©Zr bm^ Ho§${ÐV ZmhrV.

B©) qH$‘V {h {dH«o$Vm Am{U IaoXrH$Vm© ¶m§À¶m ‘Yrb H$ama Amho.

’$) qH$‘VrMm à^md Cn^moJË¶mÀ¶m IaoXr {ZU©¶mda hmoVmo.

àíZ 2) EH$‘od ‘mbH$s g§ñWm åhUOo H$m¶? Ë¶mMr d¡{eï>o ñnï> H$am. [12]

àíZ 3) gmd©O{ZH$ H§$nZr åhUOo H$m¶? gmd©O{ZH$ H§$nÝ¶m§Mr d¡{eï>o ñnï> H$am. [12]

àíZ 4) gmd©O{ZH$ - ImOJr ^mJrXmar {h g§H$ënZm ñnï> H$am. [12]

àíZ 5) qH$‘V {ZU©¶mda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am. [12]

àíZ 6) gmd©O{ZH$ H§$nZr Am{U ImOJr H§$nZr ¶m§‘Yrb ’$aH$ ñnï> H$am. [12]

àíZ 7) ^m§S>dbr A§XmOnÌH$mÀ¶m {d{dY nX²YVrMo dU©Z H$am. [12]

àíZ 8) WmoS>³¶mV CÎmao {bhm. (àË¶oH$s XmoZ) [12]

A) ì¶mdgm{¶H$ g§ñWoMm AW©

~) EH$‘od ì¶³Vr ‘mbH$s‘Yrb Xmof

H$) gmd©O{ZH$ H§$nÝ¶m§Mr CX²{Xï>o

S>) ImOJr joÌmVrb H§$nÝ¶m


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126B: ESSENTIALS OF E-COMMERCE - II
(CBCS) (2019 Pattern) (Semester - II)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1) Q.No. 1 & Q.No. 6 are compulsory.
2) Solve any three questions from remaining question No. 2, 3, 4 & 5.

PA-1760

Q1) A) Fill in the Blanks (Attempt any 5 out of 6) : [5]

a) The best products to sell in B2C e-commerce are _____
i) Small products ii) Digital products
iii) Specialty products iv) Fresh products

b) Which of the following is not a key elements of a business model?
i) Value propositions ii) Universal standards
iii) Competitive advantage iv) Market strategy

c) Which is a function of ERP?
i) Warehousing ii) Sales
iii) Scheduling iv) All of the above

d) Which type of e-commerce focuses on consumers dealing with each
other.
i) B2B ii) B2C
iii) C2B iv) C2C

e) Which of the following is part of the four main types for e-commerce.
i) B2B ii) B2C
iii) C2B iv) All of the above

SEAT No. :

P.T.O.
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f) Which of the following describes e-commerce?
i) Doing business electronically
ii) Doing business
iii) Sale of goods
iv) All of the above

B) Match the following : [5]

a) HTTP i) Online trading
b) B2C ii) First step
c) e-business iii) Founder of the World Wide Web
d) ATM iv) Hyper Tex Transfer Protocol
e) Registraion v) Business to consumer
f) Tim Berners Lee vi) Automatic Teller Machine

Q2) Define EDI. Explain the merits & limitations of EDI. [15]

Q3) What is E-payment system? Explain the procedure of E-payment through
google pay. [15]

Q4) What is Internet? Explain the procedure establishing connectivity to Internet.
[15]

Q5) Explain B2B model of E Commerce & features of B2B e-commerce. [15]

Q6) Short Notes : Compulsory (Attempt any three) : [15]
a) Advantages of Debit and Credit cards.
b) Internet Service Provider.
c) Cyber crimes.
d) Virtual Market.
e) Supply Chain Management.





Q1) a) Fill in the blanks (Any 5) : [5]
i) Which is the most flexible type of Transportation?

a) Roadways
b) Waterways
c) Airways

ii) Who is responsible for the highways and major district roads?
a) State Government
b) Central Government
c) National Government

iii) The fastest & most costly mode of transport _________.
a) Water transport
b) Air Transport
c) Rail Transport

iv) Which of the following is India's first green railway corridor?
a) Barmer to Munawab
b) Manamadurai to Rameswaram
c) Chennai to Manamadurai

v) Which Indian port is recently declared as Trade Free Zone?
a) Kandla port
b) Kochi port
c) Tuticorin port

Total No. of Questions : 6]

[Total No. of Pages : 4
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126(B) : INSURANCE & TRANSPORT - II
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1) Q. No. 1 and Q. No. 6 are compulsory.
2) Solve any 3 questions from the remaining question nos. 2, 3, 4 and 5.
3) Figures to the right indicate full marks.
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vi) When was Air Cargo established in India?

a) 1986

b) 1990

c) 1932

b) Match the following : [5]

Group 'A' Group 'B'

i) Domestic Tourism a) 1992

ii) Largest railway zone b) Foreign currency

iii) Air India came into existence c) Travel within your own country

iv) Idea of health in tourism d) Royal Orient

v) Tourism benefits e) Northern railway

f) 1963

g) Health related

Q2)  Explain the meaning of transport & importance of it. [15]

Q3) State the problems & Remedies in road development. [15]

Q4) Give the progress of Railway Transport in India since 1951. [15]

Q5) Explain the problems & prospects of Air Transport. [15]

Q6) Write short notes (Any Three) : [15]

a) Career Opportunities in transport sector

b) Measures for improve Road Transport

c) Concept of Metro rail

d) Coastal or Marine Transport

e) Importance of Air Transport


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126(B) : INSURANCE & TRANSPORT - II
(2019 Pattern) (Semester - II)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [EHy$U JwU : 70
gyMZm :

1) àíZ H«$_m§H$ 1 Am{U àíZ H«$_m§H$ 6 gmoS>{dUo Amdí`H$ Amho.
2) Cd©[aV àíZ H«$_m§H$ 2, 3, 4 Am{U 5 `mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-1761

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$m oUË`mhr nmM) …[aH$må`m OmJm ^am (H$m oUË`mhr nmM) …[aH$må`m OmJm ^am (H$m oUË`mhr nmM) …[aH$må`m OmJm ^am (H$m oUË`mhr nmM) …[aH$må`m OmJm ^am (H$m oUË`mhr nmM) … [5]

i) dmhVyH$sMm gdm©V bd{MH$ àH$ma H$moUVm Amho?

A) añVo_mJ©

~) Ob_mJ©

H$) hdmB© _mJ©

ii) amÁ` _hm_mJ© d à_wI {Oëhm añVo `mgmR>r H$moU O~m~Xma Amho?

A) amÁ` gaH$ma

~) H|$Ð gaH$ma

H$) amï´>r` gaH$ma

iii) dmhVyH$sMm gdm©V doJdmZ Am{U _hmJ _mJ© ................... Amho.

A) Ob dmhVyH$

~) hdmB© dmhVyH$

H$) aoëdo dmhVyH$

iv) ^maVmMm n{hbm h[aV aoëdo _mJ© H$moUVm Amho?

A) ~mS>_oa Vo _wZmd~

~) _mZ_XþamB© Vo am_oída_

H$) MoÞB© Vo _Z_XþamB©

3 P.T.O.
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v) AbrH$S>o H$moUVo ^maVr` ~§Xa _wŠV ì`mnma {d^mJ åhUyZ Kmo{fV H$aÊ`mV Ambo
Amho?
A) H$m§S>bm ~§Xa
~) H$moMr ~§Xa
H$) VwVrH$mo[aZ ~§Xa

vi) EAa H$mJm} H°$[aAag©Mr ñWmnZm ^maVmV Ho$ìhm Pmbr?
A) 1986

~) 1990

H$) 1932

~) OmoS>çm Owidm …OmoS>çm Owidm …OmoS>çm Owidm …OmoS>çm Owidm …OmoS>çm Owidm … [5]
"A' JQ> "~' JQ>

i) ñdXoer n ©̀Q>Z A) 1992

ii) gdm©V _moR>m aoëdo joÌ ~) naH$s` MbZ
iii) EAa B§{S>`mMr ñWmnZm H$) ñdV…À`m XoemV àdmg
iv) n ©̀Q>ZmV Amamo½`mMm {dMma S>) am°̀ b Amo[aE§Q>
v) n ©̀Q>Zm_wio Xoemg hmoUmam bm^ B©) CÎma aoëdo

\$) 1963

`) Amamo½`{df`H$

àíZ àíZ àíZ àíZ àíZ 2) dmhVwH$sMm AW© Am{U Ë`mMo _hÎd ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) añVo {dH$mgmÀ`m g_ñ`m Am{U Cnm` gm§Jm. [15]

àíZ àíZ àíZ àíZ àíZ 4) 1951 nmgyZ ^maVmVrb aoëdo dmhVyH$sMr àJVr gm§Jm. [15]

àíZ àíZ àíZ àíZ àíZ 5) hdmB© dmhVyH$sÀ`m g_ñ`m Am{U ^{dVì` ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm (H$moUË`mhr VrZ) … [15]
A) dmhVyH$ joÌmVrb amoOJmamÀ`m g§Yr
~) añVo dmhVyH$ gwYmaÊ`mgmR>r Cnm``moOZm
H$) _oQ´>moaobMr g§H$ënZm
S>) {H$Zmar qH$dm gmJar dmhVyH$
B) hdmB© dmhVyH$sMo _hÎd





Q1) a) Fill in the blanks (Any 5 out of 6) : [5]
i) ___________ is the process of promoting products & services

over the internet.
ii) __________ is the marketing of products that are presumed to be

environment friendly.
iii) _________ is a interactive marketing of products & services

using digital technologies.
iv) _________ is a place where buyers & sellers come together.
v) In AIDA technique A- _________, I-Interest, D-Desire,

A-Action.
vi) Large & scattered market is one of the important feature of

____________ marketing.
b) Match the following : [5]

i) E-mail Marketing a) A profession
ii) Rural Marketing b) One of the stages in

process of selling
iii) Salesmanship c) Activities undertaken by the

marketers to
encourage the people of Rural
areas to purchase goods &
services

iv) Green Marketing d) Sending advertiments on email
v) Prospecting e) Marketing which is beneficial

to environment

Total No. of Questions : 6]
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Q2) Define salesmanship. Explain features of salesmanship & utility of
salesmanship. [15]

Q3) Explain the concept of Rural Marketing. Explain features & Importance of
Rural Marketing. [15]

Q4) Explain the concept of Social Media Marketing along with its opportunities
& challenges. [15]

Q5) Explain the stages in Process of Selling. [15]

Q6) Short Notes on (Any 3 out of 5) : [15]
a) Qualities of Salesman.

b) AIDA Technique.

c) Present scenario of Rural Market.

d) Green Marketing.

e) Digital Marketing.


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1) àíZ H«$. 1 d àíZ H«$. 6 A{Zdm ©̀ AmhoV.
2) àíZ H«$. 2, 3, 4 d 5 n¡H$s H$moUVohr 3 àíZ gmoS>dm.

PA-1762

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (6 n¡H$s H$moUVohr 5) … [5]
i) ............... hr B§Q>aZoQ>da dñVy d godm§Mm àMma H$aÊ`mMr àH$s`m Amho.
ii) ............... ho Aem gd© dñVy d godm§Mo {dnUZ AgVo H$s, Á`m dñVy d godm

n`m©daUmgmR>r gwa{jV AgVmV.
iii) ................ ho A§H$mË_H$ V§ÌkmZmMm Cn`moJ H$ê$Z dñVy d godm§Mo nañna g§dmXr

{dnUZ Amho.
iv) ............... hr Aer OmJm Amho H$s OoWo IaoXrXma d {dH«o$Vo EH$Ì òVmV.
v) AIDA V§ÌmV A : ________, I : Interest, D - Desire, A : Action

`m§Mm g_mdoe hmoVmo.
vi) _moR>r Am{U {dIyabobr ~mOmanoR> ho .................. {dnUZmMo EH$ _hËdnyU©

d¡{eï> Amho.
~) OmoS>çm Oyidm … [5]

i) B _ob {dnUZ A) EH$ noem
ii) J«m_rU {dnUZ ~) {dH«$` àH«$s òVrb EH$ nm`ar/Q>ßnm
iii) {dH«$`H$bm H$) J«m_rU ^mJmVrb bmoH$m§Zm dñVw d

godm §Mr Ia oXr H$aÊ`mgmR>r
àm oñVm{hV H$aÊ`mgmR>r
{dnUZH$Ë`m© H$Sy>Z hmVr KoÊ`mV
òUmè`m H¥$Vr

iv) harV {dnUZ S>) B© _obda OmhramV nmR>drUo
v) g§̂ mì` J«mhH$m§Mm emoY B©) n`m©daUmg \$m`Xoera AgUmao

{dnUZ

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) {dH«$`H$bm `m g§H$ënZoMr ì`m»`m Úm. {dH«$`H$boMr d¡{eï>o d Cn`moJrVm ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) "J«m_rU {dnUZ hr g§H$ënZm ñnï> H$am. J«m_rU {dnUZmMr d¡{eï>o d _hËd ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) "gm_m{OH$ àgma _Ü`_m§Ûmao' {dnUZ hr g§H$ënZm ñnï> H$ê$Z gm_m{OH$ àgma_Ü`_m§Ûmao
{dnUZmVrb g§Yr d AmìhmZo ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) {dH«$` àH«$s òVrb nm`è`m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (5 n¡H$s 3) … [15]

A) {dH«o$Ë`mMo JwU

~) AIDA V§Ì

H$) J«m_rU ~mOmanoR>rMr gÚ… n[apñWVr

S>) harV {dnUZ

B) A§H$mË_H$/B§Q>aZoQ>Ûmao Ho$bo OmUmao {dnUZ





Q1) A) Fill in the Blanks by selecting a suitable choice (Any 5) : [5]

i) The Moral dilemma of choosing between two rights means _____.

a) It means choosing between reducing two bad things

b) Deciding which of the employees rights is the most important

c) Choosing between two types of sexual harassment.

ii) Teleological Ethics means _____.

a) An action that can only be judged by its consequences.

b) Developing individual characteristics

c) The main purpose of morality is to promote freedom.

iii) The Corporate Governance structure of the company reflects the
alternative ______ companies.

a) Cultural and Economic System

b) Legal and Business Systems

c) All of the Above

iv) The term sustainable Development came into being in _____ years.

a) 1987

b) 1980

c) 1978

Total No. of Questions : 6]
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v) These is a __________ approach to corporate planning.

a) Satisfaction of customers and workers

b) Planning skills

c) All of the above

vi) The size of the business can be well presented _______.

a) Number of business units and market value

b) Number of employees and total profit

c) All of the above

B) Match the pairs. [5]

Set 'A' Set 'B'

i) Sustainable Development a) Bravur

ii) CSR-Effect b) Makenzie

iii) The Science of ideal investing c) 1980

in Human Life

iv) Consumer Protection Act d) 1955

v) Company Act e) 1956

f) 1986

Q2) What is Business Ethics? Explain the principles of Business Ethics. [15]

Q3) What is Corporate Social Responsibility? Explain the dimensions of Corporate
Social Responsibility. [15]

Q4) Explain the features and importance of corporate governance by explaining
the concept of Corporate Governance. [15]

Q5) Discuss in detail the achievement of sustainable development in India. [15]
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Q6) Short Notes (Any 3) : [15]

a) Ethics and sustainable development

b) Principles of corporate governance

c) Health facilities

d) The importance of ethics in business policy values

e) Infrastructure


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$m oUË`mhr [aH$må`m OmJm ^am. (H$m oUË`mhr [aH$må`m OmJm ^am. (H$m oUË`mhr [aH$må`m OmJm ^am. (H$m oUË`mhr [aH$må`m OmJm ^am. (H$m oUË`mhr 5))))) [5]

i) XmoZ hŠH$m§Xaå`mZ {ZdS>ì`mMr Z¡{VH$ H$m|S>r åhUOo ..........

A) XmoZ dmB©Q> Jmoï>r H$_r H$aÊ`mÀ`m Xaå`mZ {ZdS>Uo hmò .

~) H$_©Mmè`m§n¡H$s H$moUVm h¸$ gdm©V _hËdmMm Amho ho R>a{dUo

H$) XmoZ àH$maÀ`m b¢{JH$ N>R²>R>m Xaå`mZ {ZdS>Uo

ii) Q>o{bAm°bm°{ZH$b {ZVremó åhUOo ........

A) H¥$Vr Or Ho$di Ë`mÀ`m n[aUm_mX²dmaoM {ZH$mb {Xbm OmD$ eH$Vmo

~) ñdV§Ì d¡̀ {º$H$ d¡{eîQ>ço {dH${gV H$aUo

H$) Z¡{VH$VoMm _w»` hoVy åhUOo ñdmV§Í` dmT>{dUo

iii) H§$nZrMr H$m°nm}aoQ> H$ma^mamMr aMZm d¡̀ {º$H$ H§$nÝ`m§Zm à{Vq~{~V H$aVo.

A) gm§ñH¥${VH$ Am{U Am{W©H$ ì`dñWm

~) H$m`Xoera Am{U ì`dgm` àUmbr

H$) darb gd©

4 P.T.O.
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iv) "{Q>H$mD$ {dH$mg' hm eãX ......... gmbr ApñVËdmV Ambm.

A) 1987

~) 1980

H$) 1978

v) H$m°nm}aoQ> {Z`moOZmgmR>r ......... Ñï>rH$moZ Amho.

A) J«mhH$ d H$m_Jmam§Mo g_mYmZ

~) {Z`moOZ H$m¡eë ò

H$) darb gd©

vi) ì`dgm`mMm AmH$ma Mm§Jë`m àH$mao ........... _moObm OmD$ eH$Vmo.

A) AmCQ>boQ> / ì`dgm` ẁ{ZQ²>gMr g§»`m Am{U ~mOma _yë`

~) H$_©Mmè`m§Mr g§»`m Am{U EHy$U Z\$m

H$) darb gd©

~) OmoS>`m Owidm -OmoS>`m Owidm -OmoS>`m Owidm -OmoS>`m Owidm -OmoS>`m Owidm - [5]

Set 'A' Set 'B'

i) {Q>H$mD$ {dH$mg A) ~«mD$Aa

ii) CSR-n[aUm_ / à^md ~) _°Ho$ÝPr

iii) _mZdr dV©ZmVrb Mm§Jbo / H$) 1980

dmB©Q> ̀ m§Mm Aä`mg

iv) J«mhH$ g§ajU H$m`Xm S>) 1955

v) H§$nZr H$m`Xm B) 1956

\$) 1986

àíZ àíZ àíZ àíZ àíZ 2) ì`mdgm{`H$ {ZVremó åhUOo H$m`? ì`dgm{`H$ {ZVreómMr VËdo ñnï> H$am. [15]
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àíZ àíZ àíZ àíZ àíZ 3) H$m°nm}aoQ> gm_m{OH$ O~m~Xmar åhUOo H$m`? H$m°nm}aoQ> gm_m{OH$ O~m~XmarMo Am`m_ ñnï> H$am.
[15]

àíZ àíZ àíZ àíZ àíZ 4) H$m°nm}aoQ> JìhZ©ÝgMr g§H$ënZm ñnï> H$éZ H$m°nm}aoQ> JìhZ©ÝgMr d¡{eîQ>ço d _hËd ñnï> H$am.[15]

àíZ àíZ àíZ àíZ àíZ 5) ^maVmVrb emídV {dH$mgmMo g§nmXZ `mdaVr g{dñVa MMm© H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm (H$moUË`mhr VrZ) [15]

A) Zr{Vemó Am{U emídV {dH$mg

~) H$m°nm}aoQ> JìhZ©ÝgMr VËdo

H$) Amamo½`{df`H$ gw{dYm

S>) ì`mdgm{`H$ {ZVr_yë`m§_Ü ò Z¡{VH$VoMo _hËd

B) nm`m ŷV gmò r-gw{dYm





Q1) a) Fill in the blanks (Any 5) : [5]

i) According to J. B. Say Entrepreneur is _________.

(Mentor, Inventor, An Economic Agent)

ii) Entrepreneurship is _______.

(Practice, Habit, Process)

iii) Venture capital firms are usually organized as _______.

(Non-profit organization, Mutual Funds, Limited Partnership)

iv) Family business always handover to ________.

(Indian Administrative Officer, Professional Managers, Next
Generation)

v) _________ is not something that can be invested.

(Money, Expertise, Time)

vi) An entrepreneur is basically a person who has _______
characteristics.

(Leadership, Non Risk Bearer, Shy Personality)
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b) Match the following : [5]

Group 'A' Group 'B'

i) Labour a) Creation of new
Entrepreneur

ii) Entrepreneurial Behaviour b) An Autonomous Institution

iii) Entrepreneurship & Industrialization c) Employee

iv) Entrepreneurship Development d) Two side of the same coin

Programme

v) Entrepreneurship Development e) Study of Human Behaviour

Institute of India

Q2)  Explain the difference between Entrepreneurial and Non-entrepreneurial.
[15]

Q3) What is Entrepreneurship? Explain the role of Entrepreneurship in economy.
[15]

Q4) Explain the Contribution of YASHADA and MITCON in Entrepreneurship
Development. [15]

Q5) Discuss in detail about the Hanumant Gaikwad (BVG). [15]

Q6) Write short notes (Any Three) : [15]

a) Entrepreneurial Motivation

b) Importance of Entrepreneurship

c) Entrepreneurship Development Institute of India (EDII)

d) Suhasini Kirloskar

e) Kiran Mazumdar Shaw


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUË`mhr nmM) … [5]

i) Oo. ~r. go `m§À`m _VmZwgma CÚmoOH$ .............. AmhoV.

(_mJ©Xe©H$, emoYH$, Am{W©H$ EO§Q>)

ii) CÚmoOH$Vm ................. Amho.

(gamd, gd`, à{H«$`m)

iii) gmhg ^m§S>db g§ñWm ghgm ............... åhUyZ Am`mo{OV Ho$ë`m OmVmV.

(Z\$m Z XoUmar g§ñWm, å ẁÀ ẁAb \§$S>, _`m©{XV ^mJrXmar)

iv) H$m¡Qw>§{~H$ ì`dgm` hm Zoh_rM ................... H$S>o hñVm§V[aV H$aÊ`mV `oVmo.

(^maVr` àemgZ A{YH$mar, ì`mdgm{`H$ ì`dñWmnH$, nwT>rb {nT>r)

v) ............ Mr Jw§VdUyH$ Ho$br OmD$ eH$V Zmhr.

(n¡go, VÁk, doi)

vi) CÚmoOH$ hm _wiV… Agm ì`ŠVr Amho H$s, Á`mÀ`mH$S>o .............. JwUd¡{eï>ç
AgVo.

(ZoV¥Ëd, YmoH$m Z nËH$aUmam, bmOmiy ì`{ŠV_Ëd)

3 P.T.O.



[5952]-216 4

~) OmoS>çm Owidm … [5]

JQ> "A' JQ> "~'

i) l_ A) ZdrZ CÚmoOH$m§Mr {Z{_©Vr

ii) CÚmoOH$s` dV©Z ~) EH$ ñd §̀M{bV g§ñWm

iii) CÚmoOH$Vm d Am¡Úmo{JH$sH$aU H$) H$_©Mmar

iv) CÚmoOH$Vm {dH$mg H$m ©̀H«$_ S>) EH$mM ZmÊ`mÀ`m XmoZ ~mOy

v) ^maVr` CÚmoOH$ {dH$mg g§ñWm B©) _mZdr dV©ZmMm Aä`mg

àíZ àíZ àíZ àíZ àíZ 2) CÚmoOH$s` ì`{ŠV_Ëd Am{U {~Ja-CÚmoOH$s` ì`{ŠV_Ëd `mVrb \$aH$ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) CÚmoOH$Vm åhUOo H$m`? AW©dñWoVrb CÚmoOH$VoMr ŷ{_H$m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) CÚmoOH$Vm {dH$mgm_Ü ò "`eXm' d "{_Q>H$m°Z' `m g§ñWmMo `moJXmZ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) hZw_§V Jm`H$dmS (BVG)> `m§À`m~Ôb g{dñVa MMm© H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm (H$moUË`mhr VrZ) … [15]

A) CÚmoOH$s` àoaUm

~) CÚmoOH$VoMo _hËd

H$) ^maVr` CÚmoOH$ {dH$mg g§ñWm (EDII)

S>) gwhm{gZr {H$bm}ñH$a

B) {H$aU _Ow_Xma em°


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Q1) A) Fill in the blanks (Any 5) : [5]
i) Management and administration are ___________.

a) Same
b) Different
c) Partly Same & Partly different
d) Cannot say

ii) Retailing is a marketing function which __________.
a) Sells products to other business
b) Sells products to company that resells them
c) Sells products to final consumers
d) Sells products to other retailers

iii) An individual who initiates creates and manager a new business can
be called __________.
a) A leader b) A manager
c) A professional d) An entrepreneur

iv) Business means _________.
a) Commerce b) Industry and Commerce
c) Trade & Commerce d) Selling and buying of goods

SEAT No. :

P.T.O.
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v) _________ is concerned with the buying & selling information.
Products and services over computer communication networks.
a) Commerce b) E - commerce
c) E - Business d) Business

vi) Business is the work done to earn __________.
a) Loss b) Print
c) Sales d) Expenses

B) Match the following : [5]
1) Economic activity a) Positive or negative
2) Highly optimistic b) Self-fulfillment
3) External value c) A sense of belonging
4) Internal value d) Entrepreneur
5) Motivation e) Entrepreneurship

Q2) Define the term ‘entrepreneurship’. Explain in detail the types of
entrepreneurship. [15]

Q3) What is E - commerce? Explain the features of scope of E - commerce. [15]

Q4) Explain the advantages of allowing FDI in retailing. [15]

Q5) Explain the difference between Management and Administration. [15]

Q6) Write short note (any 3) : [15]
a) Organised retailing.
b) Scope of Management.
c) Digital Retailing.
d) Features of Administration.
e) Importance of E - Commerce.


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àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am (H$m oUË¶mhr [aH$må¶m OmJm ^am (H$m oUË¶mhr [aH$må¶m OmJm ^am (H$m oUË¶mhr [aH$må¶m OmJm ^am (H$m oUË¶mhr [aH$må¶m OmJm ^am (H$m oUË¶mhr 5))))) [5]
i) ì¶dñWmnZ Am{U àemgZ .................. AmhoV.

A) g‘mZ

~) {^Þ

H$) A§eV: g‘mZ Am{U A§eV: {^Þ

S>) gm§Jw eH$V Zmhr

ii) {H$aH$moi {dH«$s EH$ {dnUZ H$m¶© Amho Oo ..................

A) BVa ì¶dgm¶m§Zm CËnmXZo {dH$VmV

~) nwZ{d©H«$s H$aUmè¶m H§$nZrH$S>o CËnmXZo {dH$VmV.

H$) A§{V‘ J«mhH$m§Zm CËnmXZo {dH$VmV

S>) BVa {H$aH$moi {dH«o$Ë¶m§Zm CËnmXZo {dH$VmV.

iii) EImXr ì¶³Vr ZdrZ ì¶dgm¶ Ama§̂  H$aVmo, V¶ma H$aVmo Am{U Ë¶mMo ì¶dñWmnZ
H$aVmo Ë¶mbm ....................... åhQ>bo OmD$ eH$Vo.

A) ZoVm ~) ì¶dñWmnH$

H$) ì¶dgm{¶H$ S>) CÚmoOH$

iv) ì¶dgm¶ åhUOo .................

A) dm{UÁ¶ ~) CÚmoJ Am{U dm{UÁ¶

H$) ì¶mnma Am{U dm{UÁ¶ S>) dñVy {dH$Uo d IaoXr H$aUo

P.T.O.
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v) ................... g§JUH$ g§àofU ZoQ>dH©$darb ‘m{hVr, CËnmXZo d godm IaoXr.
{dH«$ser g§~§{YV Amho.

A) dm{UÁ¶ ~) B©.H$m°‘g©

H$) B©.ì¶dgm¶ S>) ì¶dgm¶

vi) ì¶dgm¶ åhUOo ..................... H$‘{dÊ¶mgmR>r Ho$bobo H$m¶© hmo¶.

A) VmoQ>m ~) Z’$m

H$) {dH«$s S>) IM©

~) OmoS>çm Owidm. [5]
1) Am{W©H$ {H«$¶mH$bmn A) gH$mamË‘H$ qH$dm ZH$mamË‘H$

2) AË¶§V AmemdmXr ~) AmË‘nyVu

3) ~mø ‘yë¶ H$) AmnwbH$sMr ^mdZm

4) A§VJ©V ‘yë¶ S>) CÚmoOH$

5) àoaUm B) CÚmoOH$Vm

àíZ 2) "CÚmoOH$Vm' ¶m g§H$ënZoMr ì¶m»¶m Úm. CÚmoOH$VoMo àH$ma g{dñVa ñnï> H$am. [15]

àíZ 3) B©-H$m°‘g© åhUOo H$m¶? B©-H$m°‘g©Mr d¡{eï>¶o Am{U ì¶már ñnï> H$am. [15]

àíZ 4) [aQ>ob‘Ü¶o E’$. S>r. Am¶. bm nadmZJr XoÊ¶mMo ‘hÎd ñnï> H$am. [15]

àíZ 5) ì¶dñWmnZ Am{U àemgZ ¶mVrb ’$aH$ ñnï> H$am. [15]

àíZ 6) {Q>nm {bhm. (H$moUË¶mhr 3) [15]
A) g§K{Q>V {H$aH$moi {dH«$s.

~) ì¶dñWmnZmMr ì¶már.

H$) {S>{OQ>b [aQ>oqbJ.

S>) àemgZmMr d¡{eï>¶o.

B) B©. H$m°‘g©Mo ‘hÎd.





Q1) Attempt any THREE out of five. [15]
a) What efforts did Gandhiji take to be appreciated in so called polished

English Society?
b) Which attempts of becoming a 'gentleman' made Gandhiji realize that he

was pursuing false ideals?
c) Describe Gandhiji's journey from a blind follower of the false British

ideals to a sincere student.
d) How did Gandhiji's faith in vegetarianism grow in England?
e) Which stages of man's life does Shakespeare describe in 'All the World's

stage'?

Q2) Attempt any Three out of Five. [15]
a) Why does G.B. Show criticize the capitalist system?
b) How does, according to G.B. show, the capitalist system deteriorate

human skills?
c) Describe Kamala Das's deep attachment with her ancestral home.
d) How does Kamala Das express her desire to receive love in 'My

Grandmother's House'?
e) Comment on the central idea of the poem 'My Grandmother's House'

Total No. of Questions : 4]

[Total No. of Pages : 2

[5952]-218
F.Y. B.Com.

127A : ADDITIONAL ENGLISH - II
(CBCS) (2019 Pattern) (Semester-II)

Prescribed Textbook : Pearls of Wisdon
(By Board of Editors)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-1766
SEAT No. :

P.T.O.



2[5952]-218

Q3) Attempt any Two out of Four. [20]
a) Describe the humour in the story 'The Open Window'.
b) How does Vera play Prank on Mr. Framton Nuttel?
c) What message does John Masefield give to all the humans in his poem

'Laugh and Be Merry'.
d) How does the poem 'Laugh and Be Merry' help acquire positive attitude

to life?

Q4) Attempt any four out of six. [20]
a) Why does Robert Lynd think that real pleasure lies in ignorance?
b) Which examples does Lynd give to prove that the pleasure lies in

ignorance?
c) How does Robert Lynd defend ignorance?
d) Comment on the central idea of the poem 'To Daffodils'.
e) How does the poem 'To Daffodils' describe the transitoriness of human

life?
f) The poem 'To Daffodils' suggests the readers to make the most of present

opportunities. Discuss.





àíZ àíZ àíZ àíZ àíZ 1) A) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma {bhm. [10]

i) {X 22 {S>g|~a 2022 amoOrÀ`m "X¡ bmoH$_V' _Yrb Om{hamVrÀ`m AmYmao _qhÐm
A°ÝS> _{hÐm, nwUo `m H§$nZr_Yrb "ì`dñWmnH$' `m nXmgmR>r ZmoH$arMm AO© {bhm.

ii) Vw_À`m _hm{dXçmb`mÀ`m àmMm`mªZm _hm{dXçmb`mV "ñnYm© narjm _mJ©Xe©Z H|$Ð'
gwé H$aÊ`mgmR>r {dZ§Vr AO© {bhm.

~) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma {bhm. [10]

i) Vw_Mm {_Ì _hmamï´> amÁ` bmoH$godm Am`moJmÀ`m "{dH«$sH$a {ZarjH$' narjoV àW_
H«$_m§H$mZo CÎmrU© Pmbm Amho. Ë`m~X²Xb Ë`mMo A{^Z§XZ H$aUmao nÌ {bhm.

ii) "B©-_ob' åhUOo H$m`? B©-_obMo \$m`Xo {deX H$am.

àíZ àíZ àíZ àíZ àíZ 2) A) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma {bhm. [10]

i) KmoS>J§Jm ghH$mar gmIa H$maImZm, Ýhmdao, Vm. {eéa, {O. nwUo `m§À`m g§MmbH$
_§S>imMr dm{f©H$ gd©gmYmaU g^m {X 10 Zmoìho 2022 amoOr H$maImÝ`mÀ`m g^mJ¥hmV
gH$mir 11 dm. g§nÞ Pmbr. Ë`m{df`rMo B{Vd¥Îm {bhm.

ii) Vw_À`m _hm{dXçmb`mÀ`m amï´>r` godm `moOZm {d^mJmÀ`m dVrZo "aŠVXmZ {e~ra'
Am`mo{OV H$aÊ`mV òV Amho. Ë`m{df`rMo _m{hVrnÌH$ V`ma H$am.

Total No. of Questions : 3]

[Total No. of Pages : 3
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~) Imbrbn¡H$s H$moUË`mhr EH$m àíZm§Mo CÎma {bhm. [10]

i) {Oëhm ghH$mar ~±H$, Ah_XZJa `m§Mo H$O© WH$~mH$sXmam§Zm WH$sV ~mH$s ^aUm
H$aUo g§X^m©V Omhra {ZdoXZ V`ma H$am.

ii) Imbrbn¡H$s H$moUË`mhr Xhm n[a^m{fH$ g§km {bhm.

I) Account

II) Agreement

III) Balance

IV) Cheque

V) Computer

VI) Deposit

VII) Gazette

VIII) Link

IX) Refund

X) Statement

XI) Tax

XII) Valuation

àíZ àíZ àíZ àíZ àíZ 3) A) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma {bhm. [15]

i) Imbrb CVmè`mMo EH$ V¥Vr`m§e à_mUmV gmam§eboIZ H$éZ g_n©H$ erf©H$ Xçm.

  bmoH$emhr_Ü ò ì`ŠVrbm \$ma _hËd Amho. àË òH$ ì`º$sZo {e{jV ~ZyZ Amnë`m
OrdZmV Amdí`H$ Agbobo kmZ. H$m¡eë ò d d¥Îmr {_i{dÊ`mMm à`ËZ Ho$bm nm{hOo.
Ë`mgmR>r àË òH$ ì`º$s gmja Va PmbrM nm{hOo; na§Vw Amnë`m Xoe~m§YdmZm gmja
H$aÊ`mgmR>r à`ËZ Ho$bm nm{hOo. bmoH$emhr hr bmoH$m§Zr Amnë`m bmoH$à{V{ZYr_m\©$V
bmoH$m§À`m H$ë`mUmH$[aVm Mmb{dbobr amÁ`nÕVr Agë`m_wio {d{dY ñVam§darb
emgZ §̀ÌUm, Ë`m§Mr C{Ôï>o d H$m ©̀nÕVr g_OmdyZ KoD$Z àË òH$ ZmJ[aH$mZo Amnë`m
narZo ghH$m`© Ho$bo VaM Vmo {VÀ`mg_moarb C{Ôï>o gmÜ` H$ê$ eHo$b. åhUyZ
bmoH$emhrVrb ZmJ[aH$ gmja d gVV kmZ àmá H$ê$Z KoUmam Agbm nm{hOo. gd©
ì`º$s _mUyg åhUyZ g_mZ XOm©À`m AgVmV. _J H$moUr _moR>`m A{YH$mamÀ`m OmJoda
Agmo qH$dm H$moUr H${Zð> OmJoda H$m_ H$arV Agmo. hr lÕm bmoH$emhrVrb
ZmJ[aH$m§À`m _ZmV éOUo Amdí`H$ Amho. bmoH$emhrVrb ZmJ[aH$mZo Y_©, OmV,
qbJ, ^mfm BË`m§Xr_wio CƒZrMVm {Z_m©U hmoVo, Ago _mZVm H$m_m Z ò.
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ii) Imbrb B§J«Or CVmè`mMo _amR>rV ^mfm§Va H$am.

The World into Which We all come has been left to us by
our fathers and their fathers before them. It is composed more
of the post than of the Present. The Cities and Villages in
which we all live were built by hands other than ours, and
the railways that carry us from place to place was planned
and constructed by men Who are probably dead. Everything
around us is due, in Whole or in part, to the skill babour and
energy of those who went before us along the road of life.

~) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma {bhm. [15]

i) amOh§g àH$meZ, nwUo Am`mo{O J«§W-àXe©ZmMr dV©_mZnÌmgmR>r Om{hamV V`ma H$am.

ii) H$moUË`mhr EH$m ZdrZ _amR>r {MÌnQ>mMr Xÿa{MÌdmUrgmR>r Om{hamV V`ma H$am.


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àíZ 1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [16]

A) "H$bJr ~mOao H$s' H${dVm H$m Ame` AnZo eãXm| _| {b{IE &

~) H${d Ho$XmaZmW qgh Zo _m±Pr Ho$ nwb H$m gOrd {MÌU {H$g Vah {H$`m h¡?

H$) ""_hmË_m Jm§Yr _mZdVm Ho$ njYa Wo'' - "~mny Ho$ à{V' H${dVm Ho$ AmYma na ñnï>
H$s{OE &

S>) H$mË`m`Zr Zo _m± H$s ñ_¥{V H$mo {H$g àH$ma COmJa {H$`m h¡?

àíZ 2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [16]

A) "nhbdmZ H$s T>mobH$' H$hmZr H$s H$WmdñVw AmnZo eãXm| _| {b{IE &

~) "gbm_' H$hmZr _| gbm_ H$s añ_ H$m {damoY H¡$go {H$`m J`m h¡?

H$) "~ƒo H$m gnZm' H$hmZr Ho$ erf©H$ H$s gmW©H$Vm g_PmBE &

S>) "~mobZo dmbr Am¡aV' H$hmZr _| Xrn{eIm H$s ì`Wm H$m _m{_©H$ dU©Z {H$g àH$ma {H$`m
J`m h¡?
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àíZ 3) A) {ZåZ{b{IV AdVaUm| _| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE : [7]

i) ""AJa ~Mm ahm Vmo

H¥$VkVa bm¡Qy>±Jm

A~H$s ~ma bm¡Q>m Vmo

hVmhV Zht

g~Ho$ {hVm{hV H$mo gmoMVm nyU©Va bm¡Qy>±Jm''

ii) ""O‹S>Vm, qhgm, ñnYm© _| ^a MoVZm, Aqhgm, Z_«-AmoO newVm H$m n§H$O ~Zm {X`m
Vw_Zo _mZdVm H$m gamoO''!

Am) {ZåZ{b{IV AdVaUm| _| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE : [7]

i) ""Mm¡Yar Or, Omo gOm XmoJo ŵJV by±Jm & ~oQ>r H$mo {~Xm hmo OmUo Xmo & O_mB© n‹T>m -
{bIm b‹S>H$m h¡, Jm±d-XohmV H$s arV Zm OmUo h¡'' &>

ii) ""{OgHo$ nmg H$moB© H$m_ Zht hmoVm, dh AmX_r Zht hmoVm & h_ AmX_r Zht h¢ ....
Bg ì`dñWm Zo h_| AmX_r Zht ahZo {X`m ..... h_go h_mam hmoZm N>rZ {b`m
J`m ....''&

àíZ 4) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]

A) g§dmX H$m¡eb _| lmoVmAm| H$s {Okmgm H$s H$Ð H¡$gr hmoZr Mm{hE?

~) OZ g§nH©$ hoVw ^mfU H$m¡eb H$s Š`m Amdí`H$Vm h¡?

H$) ""AmO Ho$ ẁJ _| AZwdmX H$m joÌ AË §̀V ì`mnH$ hmo J`m h¡'' - ñnï> H$s{OE &

S>) AZwdmX _| g_Vwë`Vm H$m _hÎd g_PmBE &
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àíZ 5) {ZåZ{b{IV nm[a^m{fH$ eãXm| _| go {H$Ýht Xg Ho$ qhXr n`m©̀  {b{IE : [10]

i) Advertisement

ii) Branch Manager

iii) Cash Memo

iv) Deposit

v) Exchange

vi) File

vii) Increment

viii) Loss

ix) Notification

x) Pay-Scale

xi) Qualification

xii) Valuation


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SEAT No. :

â.â.â.â.â.1. (A) l¡sygnu âñp¡_p S>hpb gMp¡. (L$p¡C `Z `p„Q) [10]

(1) â¡dp_„v $_p kS>®__p¡ V|„$L$dp„ `qfQe L$fphp¡.

(2) v$epfpd_u L$hfQ_pAp¡ rhi¡ S>Zphp¡.

(3) cpjp_¡ iy„ hmN¡, c|f!' - R>à`pdp„ ApMp¡ iy„ L$l¡hp dp„N¡ R>¡?

(4) Np¡̀ u L©$óZ_¡ ip dpV¡$ "dyS>_¡ AX$ip¡ dp!' A¡d L$l¡ R>¡? S>hpbdp„ L©$óZ iy„ L$l¡ R>¡?

(5) d¡OpZuA¡ âp\rdL$, dpÝerdL$ A_¡ L$p̧g¡S> rinZ L$ep„ L$ep„ gu ¡̂g?

(6) `pV$ZhpqX$ep L$p¡d_¡ A^p¡Nrs_¡ „̀\¡ gC S>hp L$C kdpS> ìehõ\p lsu?

(7) L$pL$pkpl¡b "dpZkpC_p v$uhp' _¡ `rhÓ su\® krgg S>¡hu L¡$d S>Zph¡ R>¡?

(8) d¡OpZu_u _hgL$\pAp¡ S>Zphp¡.

(b) 50 iåv$p¡dp„ âñp¡_p S>hpb gMp¡. (L$p¡C `Z b¡) [10]

(1) Æ "bp' _p¡ Dv$¡íe ip¡ R>¡?

(2) dlpfpS> A_¡ `pV$ZhpqX$epAp¡_p¡ `fõ`f â¡d A_¡ Apv$f V|„$L$dp„ S>Zphp¡.

(3) L$rh v$epfpd_p¡ V|„$L$dp„ `qfQe S>Zphp¡.

(4) R>p¡s A„N
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â.â.â.â.â.2. (A) krhõspf S>hpb gMp¡. (`Û rhcpN) (L$p¡C `Z A¡L$) [10]

(1) Ap¿ep__p gnZp¡ S>Zphp¡.

(2) AMp_p Æh_ A_¡ L$h__p¡ ¿epg Ap`p¡.

(b) krhõspf S>hpb gMp¡. (NÛ rhcpN) (L$p¡C `Z A¡L$) [10]

(1) d¡OpZu _u L$\_ i¥gu `f _p¢̂  gMp¡.

(2) "ir_ep_p¡ R>p¡L$fp¡' _„y fkv$i®_ L$fphp¡.

â.â.â.â.â.3. (A) V|„$L$_p¢̂  gMp¡. (`Û rhcpN) (L$p¡C `Z A¡L$) [5]

(1) S>ip¡v$p_p¡ rhgp` L$pìe_p¡ cphp\® gMp¡.

(2) L$pmS> L$p¡eȳ s¡ L$p¡_¡ f¡ L$lue¡ L$pìe_p¡ cphp\® gMp¡.

(b) V|„$L$_p¢̂  gMp¡. (NÛ rhcpN) (L$p¡C `Z A¡L$) [5]

(1) g¡ML$ cNs_¡ L$rmeyN_p F>rj ip dpV¡$ L$l¡ R>¡?

(2) N©rlZu sfuL¡$ Æhu_y„ Æh_

â.â.â.â.â.4. L$p¡C `Z A¡L$ rhje `f r_b„̂  gMp¡. [10]

(1) kpdpÞe dp_hu `f L$p¡fp¡_p_u Akf

(2) D_pmp_p¡ b`p¡f

(3) dpfp¡ fdZue A_¡ õdfZue âhpk

(4) L$p̧g¡S> Æh__p¡ Apv$i®

â.â.â.â.â.5. (A) AfÆg¡M_ [5]

sdpfy„ õL|$grgrh„N kqV®$qaL¡$V$ Mp¡hpC Ney„ R>¡. L$p̧g¡S>dp„ âh¡i d¡mhhp dpV¡$ sd_¡ s¡_u S>ê$f ̀ X$uR>¡,
Ap\u Xy$[àgL¡$V$ õL|$grgrh„N kqV®$qaL¡$V$ gMu Ap`hp dpV¡$ sdpfu ipmp_p ApQpe®îu_¡ A¡L$ AfÆ
gMp¡.

(b) Al¡hpg g¡M_ [5]

"f¼sv$p_ rirbf' rhi¡_p¡ Al¡hpg Apif¡ kp¡ iåv$p¡dp„ gMp¡.





gwdmbgwdmbgwdmbgwdmbgwdmb     I) A) ho{R>`{Z _| ˜mb ^[a`mo Ho$ {~ 5 : [5]

[15 gmb, n§O, _hmÝV, n§Y, ZB© {n‹T>r, ~m~yOr]

i) ~moY àH$me Io _______ H¡$X Wr.

ii) OmZH$s amoO gw~wh Omo _______ H$aU doXr hþB©.

iii) ~g ñQ>mn Vo AmaVr h_oem _______ ~»ere Md§Xr hþB©.

iv) "Hw$XaV Omo Zo_' H$hmUrA _| ~wYm`b Amho V nwamUr nr‹T>r Io _______ Omo {Xb
d OmZ gm§ Am{O`m H$aU KwaOo.

v) nmar E| _______ S>šmT>mo gwR>mo H$sVZ© H§$Xm hþAm.

vi) {Zem _______ ^Ca{Z _| {hH$‹S>r ôU hþB©.

B) Omo‹S>m {_bm`mo : [5]

i) n{dÌ Jwbm_

ii) AmµOmX J¡dm{µO~

iii) dm{µO~ An{dÌ

iv) d{YH$ ZwŠgmZ

v) \$mBXmo KQ>

Total No. of Questions : 6]
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gwdmbgwdmbgwdmbgwdmbgwdmb     II) "hrA E| hþA Xþ{Z`m' ~¡V _| _m¡V E| nmN>o Oo ~mao _| H$sA g_PmEb Amho? [15]

gwdmbgwdmbgwdmbgwdmbgwdmb     III) Zaoe nmarA Io gË`m§Ur N>mo M`mo Amho? [15]

gwdmb gwdmb gwdmb gwdmb gwdmb IV) d{Oa Eo ~moY àH$me _| H${h‹S>r eV© bJr hþB©. [15]

gwdmb gwdmb gwdmb gwdmb gwdmb V) "~m~yOr ~»ere' g~H$ _| N>m gåPm`b Amho? [15]

gwdmbgwdmbgwdmbgwdmbgwdmb     VI) H§$qh {~ {Q>{Z {df`{Z Vo Wmo‹S> _| {bI`mo …- [15]

i) _hm bj_r

ii) ^X‹S>r

iii) H¥$îU OZ_

iv) MoQ>r M§Sw>

v) H$amoZm H$mb


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Total No. of Questions : 5
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Instructions to candidates :

1) Attempt all questions.
2) Figures to the right side indicate full marks.

Q.1 Give the persian equivalents of the following english terms and

english equivalents of the persian terms :                             [14] 

Ledger, Net , Partner, Product, Project services share, shortage,

per capita income, Public sector

     

Q.2   Define any three of the ofllowing: [12]

     

Q.3   Write the summery of any two of the following stories:          [10] 



Q.4 Write a note on life and literary works of the following 

writers:(any-two)    [14] 

  

SEAT No.

Total No. of Pages : 2



Q.5 (A) Translate or explain any two of the following into Urdu, English or

marathi:          [14]

 



   



   









 




(B)  Translate the following Passage into Urdu, Persian or 

     Marathi or explain it.                                                    [6]

To be Proficient in english, one requires being good at all three

skills - reading, writing and speaking. There are ample ways to

home these skills. To improve english essay writing skills, i n

Particular, one must focus on writing essays on topics of interest.

Language proficiency can't be achived Overnight. For this

reason, it is important for kids to develop a habit of essay writing

 in English.

  
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F.Y.B.Com (Semester - II)

URDU-II
127G - Additional Urdu  

 (CBCS-2019 Pattern) 

PA-1772

Total No. of Questions : 5

[Time : 2½ HoursTotal Marks : 70]

P.T.O.

   

 (1
 (2

 :1 




 2 




 3 


  

  4 




[10]

SEAT No.

Total No. of Pages : 2

[10]

[10]

[10]



    4 
  

 

 5 





  5 

  :5 










 

 

 



[6]

[10]
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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulsory.
2) Use of dictionary is not allowed.
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Q1) A) H$moUË¶mhr EH$mMo ‘amR>r qH$dm B§J«OrV ^mfm§Va H$am. [5]
Translate any one in to Marathi or English.
i) CÎmañ¶m§ {X{e B©emZ^mJo Oå~raZJao YZoídaZm‘m H$píMV² amOm A{W©Zm§ Xm[aÐ¶ Xþ:I

{ZdmaUmWª Voä¶mo YZ§ {dVrU©dmZ²& EH$mXm YZoídaoU ‘mKew³bgá‘r{Xdgo dgÝVnyOm¶m§
H¥$Vm¶m§ ~ØþXÿañWm:A{f ~hd: ¶mMH$m: g‘m¶mVm:&

ii) "OZnX{hVH$Vm© Ë¶Á¶Vo nm{W©doZ' B{V dMZ§ Vw gmW©‘od& AVmo@ñ¶ àOmJañ¶ ‘ybH$maU§
bmoH$‘mÝ¶m Edo{V {ZpíMV‘²& gH$b§ lo¶mo@{n Vofm‘od B{V H«$‘àmá‘²& ¶Wm lo¶ñVWm
H$mamdmgê$n§ Xþ:I‘{n Vofm‘od&

~) H$moUË¶mhr EH$mMo ‘amR>r qH$dm B§J«OrV ^mfm§Va H$am. [5]
Translate any one in to Marathi or English.
i) ‘hmOZ¡: gÎm‘VÎd{Zð>¡ : jwÊUmo@Ì ¶: H$ÊQ>{H$Vmo@{n nÝWm:&

V‘od {h Ëd§ d«O VÌ ÞZ§ X²dma§ MVwYm© nwê$fmW©{gX²Yo:&&

gX¡d Xod§ ^O nyO¶ Ëd§ ñdH$m¶©{gÓmd{n ‘m ñ‘ Ñß¶:&

{dZm OJÞmWH¥$nmH$Q>mj§ Z {Xì¶H$m¶©o à^dpÝV ‘Ë¶m©:&&

ii) ^moOZmÝVo M qH$ no¶§ O¶ÝV: H$ñ¶ d¡ gwV:&

H$W§ {dîUwnX§ àmoº§$ VH«§$ eH«$ñ¶ Xþb©̂ ‘²&&

gr‘pÝVZrfw H$m emÝVm amOm H$mo@ ŷX²JwUmoÎm‘:&

{dÛpX²̂ : H$m gXm dÝX²¶m AÌ¡dmo³V§ Z ~wÜ¶Vo&&

P.T.O.

Total No. of Questions : 4]

[Total No. of Pages : 3

[5952]-227
F.Y. B.Com. (Semester-II)
g§ñH¥$V (SANSKRIT-II)

A‘a^maVr (General Paper)

(2019 Pattern) (127 J)
Time : 2½ Hours] [Max. Marks : 70
gyMZm :- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

All questions are compulsory.
2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

Figures to right indicate full marks.

PA-1775
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Q2) A) g§ñH¥$VmV CÎmao {bhm. [5]

Answer in Sanskrit.

i) "X²dmqÌeËnwÎm{bH$m' J«ÝWñ¶ Ana§ Zm‘Yo¶§ {H$‘²?

ii) lrN>ÌnË¶wËgdñ¶ gmd©O{ZH§$ ê$nmÝVa§ Ho$Z H¥$V‘²?

iii) "{edamÁ¶moX¶‘²' ‘hmH$mì¶ñ¶ aMZmH$ma: H$:?

iv) "‘moh‘wX²Ja:' BË¶ñ¶ aMZmH$ma: H$:?

v) "{dH«$‘mH©$:' B{V {deofU§ H$ñ¶ H¥$Vo ¶mo{OV‘²?

~) H$moUË¶mhr EH$mMo gg§X ©̂ ñnï>rH$aU H$am. [5]

Reference to the context. (Any one)

i) V¥{fVmo ¶mMVo Vmo@¶§ VWm@h§ Vd Xe©ZmV² &

ii) OZnX{hV H$Vm© Ë¶Á¶Vo nm{W©doZ &

H$) H$moUË¶mhr XmoZ Q>rnm {bhm. [10]

Write any two short notes.

i) g‘ñ¶mnyVu - Samasyapurti

ii) S>m°. lr. ^m. dU©oH$a - Dr. S.B. Warnekar

iii) AmX²¶ e§H$amMm¶© - Adya Shankaracharya

Q3) A) OmoS²>¶m Owidm. (Match the pairs) [5]

i) Mn©Q>nÄO[aH$m A) VH©$VrW© bú‘UemñÌr Omoer

ii) H$m{bXmgghñ¶‘² Am) amOm {dH«$‘m{XË¶

iii) H$mì¶emñÌ {dZmoXoZ B) H$mbmo JÀN>Vr Yr‘Vm‘²

iv) A{W©OZ H$ënÐþ‘ B©) S>m°. lr. ^m. dU©oH$a

v) amÁ¶KQ>Zm C) AmX²¶ e§H$amMm¶©

~) H$moUË¶mhr EH$mMo gg§X ©̂ ñnï>rH$aU H$am. [5]

Explain with reference to the context. (Any one)

i) Vmdod§ ghgm {dbmo³¶ h{gV ì¶J«m {edm nmVw d: &

ii) àmUì¶¶oZm{n {d‘moM¶¡Zm§ H$V©ì¶‘oVV² Vd OÝ‘{gX²Y‘²&
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H$) H$moUË¶mhr XmoZ Q>rnm {bhm. [10]
Write any two short notes.
i) JUoemoËgdmMo {dH¥$V ñdê$n - Distorted form of Ganeshotsava,

ii) qghmgZX²dmqÌ{eH$m - Sinhasanadvatrinshika.

iii) ‘ybH$V©ì¶o - Fundamental duties.

Q4) A) H$moUVohr EH$ g{dñVa CÎma {bhm. [10]
Answer in detail to any one.
i) amOm {dH«$‘m{XË¶mMo ì¶{º${MÌU aoImQ>m.

Sketch the characterization of the King Vikramaditya.
ii) bmoH$‘mÝ¶ {Q>iH$m§Zm Ano{jV JUoemoËgd g‘Odm.

Explain the Ganeshotsava expected to the Tilak.

~) H$moUVohr EH$ g{dñVa CÎma {bhm. [10]
Answer in detail to any one.
i) "‘moh‘wX²Ja:' ñVmoÌmMr {eH$dU gm§Jm.

Explain the techniques of the hymn 'Mohamudgara'
ii) {OOm‘mVm ¶m§Mm ~mb{ed~mbm CnXoe g‘Odm.

Explain Jijamata's sermon to the BalShivabala.


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ARABIC -II
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127K- (2019 Pattern )(CBCS) 
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Total No. of Questions : 4

[Time : 2½ HoursTotal Marks : 70]

P.T.O.

Instructions to candidates :

1) Attempt all questions.
2) Figures to the right side indicate full marks.

Q.1 Translate into English or Urdu any Two of the following

 Passages:            [20]

  ___   



      

     

   _____ 







 ___ 

SEAT No.

Total No. of Pages : 3



 _____ 





 ____ 

Q.2 Explain with reference any five of the following couplets:     [20] 

   (1            



       (2   

  

 3



 (4



 (5



 (6



 (7



 (8


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Q.3 Write the Answers in Arabic any ten of the following Questions:[20]

 (2     (1

  (4    (3

    (6  (5 

   (8  (7

 (10  (9

 (12  (11

 (14  (13

 (16  (15

 

 Q.4   Write a Letter in Arabic to the Company Manager .                [10] 

  
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Q1) A) Fill in the blanks: [5]

i) _____ is the present chief justice of supreme court of India.

ii) _____ Invented the first aeroplane in the world.

iii) White revolution is associated with _______.

iv) The year _____ is called ‘The great divide’ in demogzaphic history
of India.

v) First steam powered cotton mill opened in _____ city in India.

B) Select the proper option from the options given below and rewrite the
sentences. [5]

i) _______ is the first president of India.

(Sarvepalli Radhakrishnan, Rajendra Prasad, Pandit Nehru)

ii) ________ is the assumption of Research.

(hypothesis, verification, observation)

iii) ______ is the example of artificial intelligence.

(Robot, Computer, Mobile)

iv) Lord Bentick is known for the reforms in __________ in India.

(education, administration, land revenue system)

v) Bhopal Gas disaster was happened in ______ year.

(1985, 1986, 1984)

P.T.O.
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C) State whether the following statements are True of False.  [10]

i) Right to speech and expression is fundamental right in India.

ii) The concept of single citizenship is taken from united kingdom.

iii) Science is the study that logically explains oval shape of earth.

iv) High death rate is the main cause of population growth in India.

v) The scheme of TRYSEM is related to women empowerment.

vi) Middle class people has taken efforts for modernisation in western
countries.

vii) Industrial revolution was first began in England.

viii) The cholara spreads because of water pollution.

ix) Tendulkar committee is associated with poverty estimation.

x) Analosy means similarity.

Q2) Explain features of Indian constitution. [10]

Q3) Distinguish between natural science and social science. [10]

Q4) Describe effects of science and technology on transport and communication.[10]

Q5) Explain acts related to pollution control.  [10]

Q6) Write short notes. (any four).  [20]

a) Rule of law.

b) Scientific method

c) Ruzal development

d) Population explosion

e) Modernisation

f) Disaster Management


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gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H« . 6 gmoS>{dUo Amdí¶H$ Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
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4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

PA-1777

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. [5]

i) ................ ho ^maVmÀ¶m gdm}ƒ Ý¶m¶mb¶mMo ‘w»¶ Ý¶m¶m{Ye AmhoV.

ii) ................. Zo OJmVrb n{hë¶m {d‘mZmMm emoY bmdbm.

iii) ídoV H«$m§Vr ................ er g§~§{YV Amho.

iv) ^maVmÀ¶m bmoH$g§»¶oÀ¶m B{VhmgmV .................. ¶m dfm©g ‘hm{d^mOZmMo df© åhQ>bo
OmVo.

v) n{hbr dm’o$da MmbUmar gwV{JaUr ^maVmVrb ................... eham‘Ü¶o CKS>br.

~) {Xboë¶m n¶m©¶mn¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z Imbrb {dYmZo nwÝhm {bhm. [5]

i) ................. ho ^maVmMo n{hbo amï´>nVr AmhoV.

(gd©n„r amYmH¥$îU, amO|Ð àgmX, n§{S>V Zohê$)

ii) ............. ho g§emoYZmMo J¥{hVH$ Amho.

(n[aH$ënZm, nS>VmiUr, {ZarjU)

iii) ................ ho H¥$Ìr‘ ~wÕr‘ÎmoMo CXmhaU Amho.

(amo~moQ>, g§JUH$, ‘mo~mB©b)

iv) bm°S>© ~|{Q>H$ ho ^maVmV ................ gwYmaUmH$[aVm n[a{MV AmhoV.

(e¡j{UH$, àemgH$s¶, O‘rZ ‘hgyb)

v) ^monmi J°g XþK©Q>Zm ................. dfu KS>br.

(1985, 1986, 1984)



4[5952]-229

H$) Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm. [10]

i) ^maVmV ~mobUo Am{U A{^ì¶º$s hm ‘wb ŷV A{YH$ma Amho.

ii) EH$b ZmJarH$ËdmMr g§H$ënZm ¶wZm¶Q>oS> qH$JS>‘H$Sy>Z KoÊ¶mV Ambr.

iii) {dkmZ hm Agm Aä¶mg Amho Omo VH©$ewÕnUo n¥ÏdrMm A§S>mH¥$Vr AmH$ma ñnï> H$aVmo.

iv) Cƒ ‘¥Ë¶yXa ho ^maVmVrb bmoH$g§»¶mdmT>rMo ‘w»¶ H$maU Amho.

v) Q´>m¶go‘ hr ¶moOZm ‘{hbm g~brH$aUmer g§~§{YV Amho.

vi) nmíMmË¶ Xoem‘Ü¶o ‘Ü¶‘dJu¶ bmoH$m§Zr AmYw{ZH$sH$aUmgmR>r à¶ËZ Ho$bo.

vii) Am¡Úmo{JH$ H«$m§Vr àW‘ B§½bS>‘Ü¶o Pmbr.

viii) H$m°bam hm ObnwÐfUm‘wio ngaVmo.

ix) V§oSw>bH$a A{‘Vr Xm[aÐ¶mÀ¶m A§XmOmer g§~§{YV Amho.

x) AmÑí¶ åhUOo g‘mZVm hmo¶.

à.à.à.à.à.2) ^maVr¶ amÁ¶KQ>ZoMr d¡{eï>¶o ñnï> H$am. [10]

à.à.à.à.à.3) Z¡gJuH$$ {dkmZ Am{U gm‘m{OH$ {dkmZ ¶m§À¶mV ’$aH$ H$am. [10]

à.à.à.à.à.4) {dkmZ d V§ÌkmZmÀmm dmhVwH$ d g§XoedhZ ¶mdarb n[aUm‘ ñnï> H$am. [10]

à.à.à.à.à.5) àXþfU {Z¶§ÌUmer g§~§{YV {d{dY H$m¶Xo ñnï> H$am. [10]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]

A) H$m¶X¶mMo amÁ¶

~) d¡km{ZH$ nÕVr

H$) J«m‘rU {dH$mg

S>) bmoH$g§»¶m {dñ’$moQ>

B) AmYw{ZH$sH$aU

’$) AmnÎmr ì¶dñWmnZ





Q1) a) Fill in the blanks (Total 5) : [5]

i) Full form of WWW is __________.

ii) ___________ are used to search information on internet.

iii) Two examples of web browsers are __________ and _________.

iv) ___________ is the main page of the website.

v) A network that spans the countries and continents is known as
___________.

b) Match the pairs : [5]

List 1 List 2

i) Graphic software a) Chrome

ii) Web browser b) Copy + Cut

iii) Ctrl B c) Select All

iv) Ctrl A d) Bold

v) Ctrl C + Ctrl X e) MS Paint

Total No. of Questions : 4]
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Q2) Write Short Note on the following (Any 2) (5 Marks each) : [10]

a) Functions In Ms-excel

b) Taskbar

c) Features of Ms-PowerPoint

Q3) Answer the following (any 4) : [20]

a) Explain different function available in Ms-Excel

b) Explain Animation effect available in Ms-PowerPoint.

c) Explain any two applications of Internet.

d) How to write an Email?

e) Explain Data sorting in Ms-Excel.

Q4) Answer the following question (any 1) : [10]

a) What is a Search Engine? Explain how search engine works.

b) What is mail merge in Ms-word? Explain steps to use mail merge in
Ms-word.


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Q1) a) Fill in the blanks (Attempt any 5 out of 6) : [5]

i) A small amount of product is offered to the customer for trial is
called

a) Product combination b) Sample

c) Coupon d) Rebate

ii) CRM is a short form of __________.

a) Customer Relationship Management

b) Company Resource Marketing

c) Consumer Reaching Marketing

d) Customer Relationship Marketing

iii) When products are complex and of a technical nature, __________
is necessary.

a) Sampling

b) Price off offer

c) Rebate/cash refund offer

d) Demonstration

iv) _________ implies that you not only hear what someone is saying
but also understand the content.

a) communication b) hearing

c) listening d) speaking

SEAT No. :

P.T.O.
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v) ________ is the lifeblood of any organization.

a) Selling b) Advertising

c) Communication d) Marketing

vi) The first step in organizing an event is ___________.

a) to choose the appropriate venue

b) to promote the event

c) to draw a proper budget

d) to identify the audience

b) Match the following : [5]

Column A Column B

a) Sampling i) if the purchases is not
satisfied with the product
a part of their money is
returned

b) Coupons ii) certificate that reduces
prices

c) Demonstration iii) Given to consumers to
increase their interest in the
product

d) Premium offers iv) The manner of using the
product

e) Money Refund Offers v) Temporary price
reduction which increases
the instinct of the buyers

Q2) Short notes (any 2 out of 4) : [10]

a) Tools in Public Relation

b) Presentation Skills

c) Functions of Sales Promotion

d) Objectives of Event Management
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Q3) a) Explain the need and importance of Sales Promotion. [8]

OR

What do you mean by sales promotion? Explain the techniques used in
it.

b) Discuss the need and importance of Public Relations. [7]

OR

Explain the types of public relations.

Q4) a) Discuss the ways for the effective management of events. [8]

OR

Discuss the types of events.

b) State the five pillars of Personality Development. [7]

OR

Explain the importance of communication skills.





Q1) A) Fill in the Blanks (Any Five) [5]
i) __________ is a person who is liable to pay any amount of tax,

penalty or interest.
ii) ___________ means the aggregate amount of taxable income

computed under the five heads of income.
iii) Commission received from employer is taxable under the head

income from ________
iv) Municipal Tax is to be charged on the ______ value of the property.
v) Exemption for the allowance received for children education is up

to Rs. _____ per month per child for maximum of two children.
vi) The standard deduction under section 24(a) from house property

is at _______ %.
B) Match the Pairs [5]

Group-A Group-B
i) Commission a) Exempt up to Rs. 300 p.m.
ii) Employer contribution to RPF b) Exempt up to 12% of

Salary
iii) Hostel Allowance c) Fully Exempt from tax
iv) Vacancy Loss d) Fully Taxable
v) Indian Agricultural Income e) House Property

Total No. of Questions : 4]
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Q2) Write Short Notes (Any Two) [10]
a) Assessee
b) Previous Year
c) Gratuity
d) Recognized Provident Fund

Q3) Solve the following problem. [15]
Mr. Atul is an employee of a company at Mumbai. He provides you the
following details of his income received during the previous year 2021-22.
• Basic Salary Rs.40,000 p.m.
• Dearness Allowance (50% part for retirement benefit) Rs.30,000 p.m.
• Travelling allowance Rs. 15,000
• Medical Allowance Rs. 12,000
• Research Allowance Rs.15,000 (Expenses Rs.13,000)
• His own contribution to RPF Rs.20,000 and Company contributed

Rs.30,600 to his RPF account.
• Interest credited to R.P.F. @ 8% p.a. is Rs.24,000.
• Company also provided a car having capacity 1700cc for official purpose.

The car is owned by the company and all the expenses are met by the
company.
Compute his taxable income from salary for the assessment year
2022-23 assuming he paid professional tax of Rs.2,500 during the year.

Q4) Solve the following problem. [15]
Mr. Rohit submits the following information of his property:

Property Income House-A House-B
Nature of Property Let out for Let out for

residence business
Municipal Valuation 2,00,000 2,00,000
Fair Rent 2,40,000 2,10,000
Standard Rent as per rent control Act 1,90,000 1,95,000
Rent received 1,78,000 2,12,000
Municipal taxes paid 20,000 20,000
Interest on borrowed capital 92,000 1,01,000
Insurance 5,200 5,500
Determine the taxable income from house property for the A.Y. 2022-23.


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Q1) A) Fill in the blanks: [5]

a) _____ statement is a multiple or multiway branching decision making
statement.

i) Loop ii) Array

iii) Switch iv) New

b) ____ is an entry controlled looping statement.

i) do-while ii) while

iii) for iv) if-else

c) A _____ is a group of statements that together perform a particular
task.

i) Loop ii) Function

iii) Bunch iv) Method

d) Which of the following symbol is used when there is more than one
if statement is there?

i) <> ii) {}

iii) [] iv) **

e) A collection of elements of the same data type is called____.

i) Operator ii) Array

iii) Object iv) Variable

P.T.O.
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B) Match the following: [5]

A B

a) Strlen() i) String

b) Nested if ii) Starts at 0

c) Array index iii) String length function

d) Switch statement iv) One if statement inside another

if statement

e) Char c[5]; v) Decision making statement

Q2) Write Short notes (Any Two): [10]

a) For loop

b) Purpose of function

c) If-else statement

Q3) Answer the following (Any Four): [20]

a) Write a C program to find square of a number using function.

b) Explain strcpy() function with syntax and example.

c) Explain do-while loop with syntax.

d) Write a C program to print numbers from 1 to 10.

e) What is Funtion? How function is declared?

Q4) Answer the following [10]

a) What is Array? Explain declaration and initialization of an array.

b) Explain switch-case statement. Explain the use of default and break
statement.


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Q1) A) Fill in the blanks: [5]

a) What types of media does magzine belongs to?

i) Print media ii) Outdoor media

iii) Television media iv) None of the above

b) An _______must attract the attention of the prospective
customers.

i) Ad copy ii) Write up

iii) Song iv) Colour

c) The First step in budgetary process is______.

i) Budget Presentation ii) Preparation of budget

iii) Budget control iv) Budget Interpretation

d) Now a days expenditure on advertising is considered as_______.

i) Waste ii) Investment

iii) Expenses iv) Speculation

e) Written material in ad-copy is known as_______.

i) Copy ii) Illustration

iii) Logo iv) Slogan
P.T.O.
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B) Match the following: [5]
A B

a) Sign or symbol i) Product life cycle
b) Illustration ii) Print media
c) Growth stage iii) Slogan
d) Newspaper magzine iv) Logo
e) “No one can eat just one” v) Pictorial Presentation

Q2) Write Short notes (Any 2): [10]
a) Advantages of print media.
b) Advertising Budget.
c) Role of Woman in advertising.
d) Importance of rural advertising.

Q3) a) Write in detail elements of advertising layout for print media. [8]
OR

Write a detail note on Essentials of good advertising layout.

b) What do you mean by advertising budget? State methods of budget. [7]
OR

Explain factors affecting advertising budget.

Q4) a) State various career opportunities available in the field of marketing and
advertising. [8]

OR
Explain difficulties faced in rural advertising.

b) Write a note on ethics in advertising. [7]
OR

Discuss the measures to make rural advertising effective.


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Q1) A) Choose appropriate answer (Any Five) : [5]
a) Composition tax payer is required to file return in form no____.

i) GSTR-1 ii) GSTR-2

iii) GSTR-3 iv) GSTR-4

b) IGST was levied on  _______.

i) Interstate Supply Only ii) Interstate Supply & SEZ units

iii) Intra State Supply Only iv) All of these

c) GST is levied on supply of all goods and service except ______.

i) Alcoholic liquor for human consumption

ii) Tobacco

iii) Health care service

iv) All of the above

d) Reverse Charge Mechanism applicable on _______.

i) Advocate Services ii) Transport Services

iii) Security Services iv) All of these

e) ______ form is furnished for submission of details of inward
supplies u/s 37.

i) GSTR-1 ii) GSTR-2B

iii) GSTR-3B iv) GSTR-5

f) Supply of goods in the course of import into the territory of India
is ________.

i) Intrastate Supply ii) Export Supply

iii) Interstate Supply iv) All of the above

P.T.O.
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B) State whether the following statement is True or False: [5]

a) Tax collected at the time of supply of goods or services is called
output tax.

b) Professional tax has been abolished by the GST.

c) Assam was the first state in India to pass GST bill.

d) The due date for filing GSTR-3B is on or before 20th day of the
next month.

e) Maximum rate prescribed by GST law for interstate supply is 40%.

Q2) Write Short Notes (Any Two): [10]

a) Special audit under GST.

b) Time of Supply for services.

c) Offences under GST.

d) Records to be maintained by manufacturer.

Q3) Answer the following questions (Any Four): [20]

a) Explain the various contents of GSTR-1.

b) Explain the various provisions for payment of tax & interest under GST
law.

c) What are the different forms for Returns and their due dates under GST
Laws?

d) Explain the various provisions for penalty under GST.

e) Who is required to maintain the books of accounts under GST?

f) Who is required to furnish the details of outward supplies in return form?

Q4) Answer Any One of the following questons: [10]

a) What is Place of Supply of Services?

b) What is reverse charge mechanism under GST? Explain its provisions.


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